T 0294-457712 F 0294-457713 Info@Pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONTENTS

50Hz

- SPECIFICATION

SPECIFICATION
SELECTION CHART
SELECTION CHART

TYPE KEY AND CURVE SPECIFICATIONS

PERFORMANCE CURVE 32-125
PERFORMANCE CURVE 32-160
PERFORMANCE CURVE 32-200
PERFORMANCE CURVE 40-125
PERFORMANCE CURVE 40-160
PERFORMANCE CURVE 40-200
PERFORMANCE CURVE 50-125
PERFORMANCE CURVE 50-160
PERFORMANCE CURVE 50-200
PERFORMANCE CURVE 65-125
PERFORMANCE CURVE 65-160
PERFORMANCE CURVE 65-200
PERFORMANCE CURVE 65-250
PERFORMANCE CURVE 80-160
PERFORMANCE CURVE 80-200
PERFORMANCE CURVE 80-250

- CONSTRUCTION

SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3(.)M 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LMZ 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3LMZ 32, 40, 50, 65-125/160/200

SECTIONAL VIEW DRAWING 3LM 80-160/11
SECTIONAL VIEW DRAWING 3LM 80-160/15R/15/18.5
SECTIONAL VIEW TABLE 3LM 80-160

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50
SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50, 65-125/160/200
SECTIONAL VIEW DRAWING 3LSZ 32, 40-125/160, 40-200/5.5/7.5

50-125/160, 50-200/9.2, 65-125, 65-160/7.5/9.2
SECTIONAL VIEW DRAWING 3LSZ 40-200/11,
50-200/11/15, 65-160/11/15, 62-200

SECTIONAL VIEW TABLE 3LSZ 32, 40, 50, 65-125/160/200

SECTIONAL VIEW DRAWING 3LS 80-160
SECTIONAL VIEW TABLE 3LS 80-160

SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250

SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200

SECTIONAL VIEW DRAWING 3LP 80-160

Rev. R

Page

200
200-201-202
203
204
205-206-207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223

300
300
301

302
303
304
305
306
307
308
309

310

311
312
313
314
315
316
317
318
319

100

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONTENTS 50Hz
Rev. R

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250 320-321
SECTIONAL VIEW TABLE 3LP 80-160 322
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250 323
BEARINGS 3(.)M 324
BEARINGS 3(.)S-3(.)P 325
MECHANICAL SEAL STANDARD, H, E AND ES VERSION 326
MECHANICAL SEAL L VERSION @ 22 327
MECHANICAL SEAL L VERSION @ 30-35 328
MECHANICAL SEAL HS VERSION @ 22 329
MECHANICAL SEAL HS VERSION @ 30 330
MECHANICAL SEAL HW AND HSW VERSION 331
MECHANICAL SEAL ES VERSION 332
COUPLING 333
FLEXIBLE COUPLING 334
FITTINGS 335-336

- DIMENSIONS 400
DIMENSIONS 3(.)M 32, 40, 50, 65-125/160 400
DIMENSIONS 3(.)M 50-200, 65-160/15, 65-200 401
DIMENSIONS 3LMZ 32, 40, 50-125/160/200/9.2/11,
65-125/160/7.5/9.2/11 402
DIMENSIONS 3LMZ 50-200/15, 65-160/15, 65-200 403
DIMENSIONS 3LM 80-160/11 404
DIMENSIONS 3LM 80-160/15R/15/18.5 405
DIMENSIONS 3(.)S 32, 40, 50 406
DIMENSIONS 3(.)S 32, 65 407
DIMENSIONS 3(.)S 40, 50, 65 408
DIMENSIONS 3(.)S 32, 40, 50, 65 409
DIMENSIONS 3LSZ 32-125/160, 32-200/3/4,
50-125/2.2, 65-125/4 410

DIMENSIONS 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5,
50-125/3/4, 50-160 50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2 411
DIMENSIONS 3LSZ 40-200/11, 50-20011/15,

65-160/11/15, 65-200 412
DIMENSIONS 3LS 80-160 413
DIMENSIONS 3LS 65-250, 80-200/250 414
DIMENSIONS 3LS 80-200/30/37, 80-250/45 415
DIMENSIONS 3LS 80-250/55 416
DIMENSIONS 3(.)P 32, 40, 50, 65 417
DIMENSIONS TABLE 3(P 32, 40, 50, 65 418
DIMENSIONS 3LP 65-250,80 419
DIMENSIONS 3LP 80-200/30/37, 80-250/45 420
DIMENSIONS 3LP 80-250/55 421
PACKING 3()M 422
PACKING 3()S 423
PACKING 3()P 424

101

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONTENTS 50Hz
Rev. R
- TECHNICAL DATA 500
MOTOR DATA 3()M 500
MOTOR DATA 3()S-3( )P 501
NOISE DATA 3(.)M 502
NOISE DATA 3( )S-3()P 503
102
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

SPECIFICATION 50Hz

Rev. R

w
=
w
(]
w
U

Version 3LM 3LMZ 3LS 3LSZ 3LP

32-125
32-160
32-200
40-125
40-160
40-200
50-125
50-160
50-200
65-125
65-160
65-200
65-250
80-160
80-200
80-250 -

Pump sizes

e diediodiedivdiediodiodicdivliediog
SO T I T T T T T I

(A B B B BE BE BN BE BN BE B BN BN BN BN
(AL B B B BE BE BN BE BN BE B BN BE BN BN

B Available also with H, HS, HW, HSW, E version.
@ Available also with H, HW, HSW, E version.

A Available also with H, HW, HSW, ES version.
— Not available.

O Available only standard version.

200

5 E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

SPECIFICATION

50Hz

Rev. R
PUMP
Version 3M 38 3P [ 3Lm@) 3LS(2) 3LP
Clean water and moderately aggressive fluids
Type of liquid / Drinking water and water contains glycol for
E and ES version
Liquid min. -10 . min. -10
Handled min. -20 (E version) min. -20 (E and ES version)
Temperature [°C] max. +90 max. +110
max. +110 (H\'Ie'jzo':\)’v”sw max. +110 (H-HW-HSW version)
max. +120 (E version) max. +120 (E and ES version)
Maximum working pressure [MPa] 1
Closed centrifugal type for 32, 40, 50 version
Impeller Reinforced laser welding for 40-200/11, 50-200/15
. Closed centrifugal three dimensional blades for 65 and 80 version
Construction - - - -
Shaft seal type Mechanical seal Mechanical seal W'Ith stahopary ring secured
against rotation
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according DIN 2532 Standard
Suction gg:ggﬂggggg Flange DN65 according DIN 2532 Standard
65-125/160/200/250 Flange DN80 according DIN 2532 Standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 Standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 Standard
40-125/160/200 Flange DN40 according DIN 2532 Standard
Discharge 50-125/160/200 Flange DN50 according DIN 2532 Standard
65-125/160/200/250 Flange DN65 according DIN 2532 Standard
80-160/200/250 Flange DN80 according DIN 2532 Standard
32-125/160/200
40-125/160/200
Casing 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Impeller 50-125/160/200 _ ‘
65-125/160/200 EN 1.4401 (AISI 316) made by precision casting
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
32-125/160/200
40-125/160/200
Casing cover 50-125/160/200 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 made by precision casting
ig:ggﬂggggg Ceramic/Carbon/NBR
Material 50-125/160/200 . . . SiC/SiC/FPM (L version)
_ 65-125/160/200 (For version see page 327+333) ) .
Mechanical seal 65250 (For version see page 327+333)
80-160/200 /
80-250 SlC/Carbon/EP[zD]M (ES version)
O-ring NBR _[1] FPM [3]
32, 40, 50,
65-125 d=19
65-160/11
50-200/15 4=22 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
65-160/15 d=24
Shaft 2 EN 1.4462
65-250 d=24 (Duplex stainless steel)
80-160 d=24
80200122 a=24 / EN 1.4404 (AISI 316L)
80-200/30-37 d=24 EN 1.4462
80-250 d=29 (Duplex stainless steel)
Bracket Cast iron - Aluminium

Applicable standard of test

1ISO 9906 — Annex A

[1] FPM for H-HS-HW-HSW version

[2] ES option only for 80-250 2 poles @35

[3] EPDM for E and ES version

201

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

SPECIFICATION 50Hz
Rev. R
MOTOR
3LM(Z) | 3()S(2) | 30)P
Type Electric - TEFC
Single Phase Three Phase
IE2 from 1.1 kW up to 5.5 kW
.- IE3 from
Efficiency level (Reg. 640/2009) / 75kWupto| IE3from 1.1 KW up to 55 kW
18.5 kW
No. of Poles 2
Rotation speed [min”] ~ 2900
Insulation Class F | F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP 55
Power ratin [kW] 1.1+2.2 1.1+22 1.1+55
9 [HP] 15+3.0 1.5+ 30 15+75
Frequency [HZz] 50
230/400 £10% (up to 4.0 kW)
0,
Voltage V] 230 +10% 400/690 +10% (5.5 KW and above)
Over load protection Provided by the user
Casing material Aluminium
Motor support Cast iron - Alluminium
Dimensions of cable ent M20x1.5 PF(’S(;1365 M20x1.5, M25x1.5, M32x1.5
Y : PG M40x1.5, M50x1.5
3(.)S IMB5 (up to 2.2 kW)
Flange mount (IEC motor) / IMB35 (3 kW and above) | IM B3
3LSZ IM B35
202

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

SELECTION CHART 50Hz
Rev. R
U.S.g.p.m. 50 60 70 80 90100 120 140 160 180200 250 300 350 400 500 600 700 1000
| | | | | | | | | | | | | | | | |
[ [ [ [ [ T 1 [ [ T T [ [ [ [ [ I [ [
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160 180200 250 300 350 400 500 600 700 1000
p-g-p
120
— 350
100
L ST, . — 300
—-250 T )
H 80 /:\57\ Y o] %35 250 H
= 65-250/30 TF T~ RENANG 250 N
m ——— ! Y I N N Y, ft
32 = = X%
S e Sum s il RSl (g UM
| ~ Ly {153 65 53 %
=] 2 & 5
50 T | [2 N %,jELLLHH imm SUURNE s I <A\
~200/4.0 T 2N 200, T~ 0NN e\ 150
N : 0 N
ol L Sty TSR S IN A LT
¥ T f A \
32\200/30 40\ » r | ‘0%\ 0//5 0\90 - \—300\
b : L 0y N O NN EISZONCE 5\
2\760/22 ] | N NG, N a
| : 0 N R i N 5N CHRRN NN / 100
30 i B /50\1 0\/\1\ Y/ % < < 2NN\ 7
1 /410\ k 50/) i*N/,g,‘f L /&0‘\‘
- *jzr‘“#**********”*\ TN T Yy N9 ﬁ NN N NN 7 N
60/1.5 N 2NN EAEGA)
e ine F NP SEERANGANEL 75
2 - i D) NC NI ZANEINTENTNE AN
5 NG N 24 T ON 0\\5
~125/T 1T ( NG %\@‘ NV e\ \/
J/ q Z [e P\ \ N—>
™ 2N\ SN SN A\ TN\
5 N N NN AN PN Y 2P L 50
A N N A g SN = PAUA'
( pe QEEAN NN 2\
\ Q 9 \\,, 15) \ / A 40
/ ) [ P G\ \
/ -7 AN VN
10 / AN 2N w}\ /
SN\ 2 % L
9 \ > %\\ f f 30
g \ / /
—25
/ [
6 f / f 20
/ [ /
5 / / /

100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
T T [T l T l I l I l | l I

[ T |
6 7 8 910 12 14 16 1820 25 30 40 50 60 70 100 150 200 500
Q[m /h]

203

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

SELECTION CHART

50Hz

Rev. R
3 SERIES: 32, 40, 50 Version
Power )
Pump type /min 0 | 100 | 150 | 200 | 300 | 333 | 360 400 450 500 600 700 800 | 1000 | 1200
kW] | [HP] m3*h 0 6 9 12 18 20 22 24 27 30 36 42 48 60 72
32-125/1.1(M) * 11| 15 225 21 | 199|184 | 141 12 - - - - - - - - -
32-160/1.5(M) * 1.5 2 29.5| 28 |26.5|245| 19.2 17 - - - - - - - - -
32-160/2.2(M) * | 2.2 3 37/ 355 34 32 27 25 - - - - - - - - -
32-200/3.0 3 4 44| 42 40 (375 3 28 - - - - - - - - -
32-200/4.0 4 5.5 55/ 53.5| 52 | 49.5| 435 | 40.5 38 - - - - - - - -
32-200/5.5 55| 75 70.5| 69 | 67.5| 65 | 58.5 - - - - - - - - - -
32-200/7.5 75| 10 70.5| 69 | 67.5| 65 | 58.5 | 555 53 49 44 - - - - - -
40-125/1.5(M) * 1.5 2 20 - - 19 17.6 17 16.5 | 157 | 145 | 132 | 103 7 - - -
40-125/2.2(M) * | 2.2 3 26.5| - - | 255] 24 235 | 23 22 21 195 | 16.4 13 - - -
40-160/3.0 3 4 31 - - | 295| 275 27 265 | 255 24 225 20 17 - - -
40-160/4.0 4 5.5 40| - - | 385] 37 36 355 | 345 33 32 29 255 - - -
40-200/5.5 55| 75 47| - - | 455 44 43 | 425 41 39.5 38 35 31 - - -
40-200/7.5 75 | 10 58| - - 57 | 555 55 545 | 53.5 | 525 51 47.5 44 - - -
40-200/11 11 15 72| - - 71 70 70 69.5 | 68.5 | 67.5 66 63 59 - - -
50-125/2.2(M) * | 2.2 3 19| - - - - - 17.5 17 16.3 | 149 | 134 | 117 8 -
50-125/3.0 3 4 22| - - - - - 20.5 20 19.6 | 184 17 154 | 11.8 8
50-125/4.0 4 5.5 26.5| - - - - - 26 25.5 25 24 225 | 215 | 17.9 14
50-160/5.5 55| 75 33| - - - - - 31 30.5 30 285 27 255 22 18
50-160/7.5 75| 10 40| - - - - - 38.5 38 375 36 35 33.5 30 26
50-200/9.2 9.2 | 125 53| - - - - - - - 50 49 475 | 455 | 40.5 34
50-200/11 11 15 59| - - - - - - - 56 55 54 52 48 42
50-200/15 15 20 72| - - - - - - - 70 69 68 66 62 57

* Single phase version only for 3M type

3 SERIES: 65, 80 Version

Pump type Power .

I/min 0| 600 | 700 | 900 | 1300 | 1500 | 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000

tow) | ey | ™ 0] 36 | 42 | 54 | 78 | 9 | 102 | 114 | 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240

65-125/4.0 4 [ 55 222[ 198 19 [17.3] 133 | 11 | 86 | 6.3 - - - - - - -
65-125/5.5 55| 75 27| - | 24 [222] 18 | 157] 133 | 108 | 8 - - - - - - - - -
65-125/75 7.5 | 10 32| - 295 27.8| 235 [ 211 ] 187 | 161 | 134 | 12 - - - - - -
65-160/7.5 7.5 | 10 32] - | 30 [ 286 248 | 225| 199 | 171 | 14.2 - - - - - - -
65-160/9.2 9.2 [ 125 3.5 - [345]328] 288 | 265] 239 | 211 | 183 | 16.8 - - - - - - -
65-160/11 11| 15 40.5| - | 385[37.1] 331 [ 30.9] 284 | 258 | 23 | 215 | 20 - - - - - -
65-160/15 15 | 20 48] - |455] 44 | 40 |37.8| 353 | 326 | 296 | 28 | 265 | - - - - - - -
65-200/15 15 | 20 535 - | 51 | 49 | 44 | #415| 384 | 353 | 31.8 | 30 - - - - - - - -
65-200/18.5 185 | 25 60.5| - | 585|565] 515 | 49 | 46 | 43 | 397 | 38 | 363 | - - - - - -
65-200/22 22 | 30 67| - |655] 64 | 595 | 57 | 54 | 51 48 | 465 | 45 - - - - - - -
65-250/30 30 | 40 78] - | - | 77 | 735 | 71 | 68 | 645 | 60 | 575 | 55 | 52 - - - - - -
65-250/37 37 | 50 89| - | - | 8 | 855 | 8 | 805 | 775 | 74 | 72 | 70 | 67.5 | 65 - - - - -
80-160/11 11 ] 15 20 - | - - | 273 [264] 254 | 242 | 23 | 224 | 218 | 21.1 | 204 | 164 | 125 | - - -
80-160/15R 15 | 20 32l - | - - | 305 | 29.7] 28.8 | 27.7 | 26.5 | 259 | 253 | 246 | 24 | 201 | 165 | 145 | - -
80-160/15 35 - | - - 34 | 333|325 | 315 | 305 | 30 | 294 | 288 | 281 [ 244 | 21 [ 191 | 17 -
80-160/18.5 18.5 | 25 40 - | - - 39 | 384|376 | 36.7 | 357 | 352 | 347 | 341 | 335 | 30 | 264 | 244 | 223 | 20
80-200/22 22 | 30 50, - | - - | 48 | 47 | 455 | 45| 43 | 42 | M1 40 | 39 | 332 278 | 25 - -
80-200/30 30 | 40 60 - | - - | 585] 58 | 57 | 56 | 545 54 | 53 | 52 | 51 | 465] 415 | 39 | 361 | 33
80-200/37 37 | 50 66 - | - - | o4 | 63 | 62 | 61 | 595 | 59 | 58 | 575 | 565 | 51.5 | 47 | 445 | 41.5 | 385
80-250/37 37 | 50 73 - | - - | 715 | 705] e85 | 665 | 64 | 63 | 615 | 60 | 585 | 485| 38 - - -
80-250/45 45 | 60 84 - | - - | 825 | 81.5] 80 | 78 76 | 75 | 735 | 725 71 | 62 | 5 | 48 | 425 | -
80-250/55 55 | 75 95 - | - - | 935 [925] 915 | 90 | 885 | 875 | 865 | 855 | 84 | 765 | 685 | 64.5 | 60 55

204

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz
Rev. R
TYPE KEY:
(s [ [t ][m][z][H][s]-[160f/[15]R][[M]
SINGLE PHASE ONLY
REDUCED IMPELLER
1.1 HP 1.5
1.5 HP 2
2.2 HP 3
3 HP 4
4 HP 5.5
5.5 HP 7.5
7.5 HP 10
9.2 HP 12.5
POWER CODE 11 HP 15
15 HP 20
18.5 HP 25
22 HP 30
30 HP 40
37 HP 50
45 HP 60
55 HP 75
125
IMPELLER CODE 160
200
250
32
40
DISCHARGE SIZE 50
65
80
H
HS
OPTIONS MECHANICAL SEAL HW
HSW
E
ES
PUMP CASING WITHOUT FOOT (only for version 3LM and 3LS 32, 40, 50, 65-125/160/200)
MODEL TYPE '\S/I
P
For versions 32 , 40, 50 AIS| 304 *
65-125/160/200 AISI 316L L
For versions 65-250 , 80 AISI 316 L
3 SERIES
*) No indication
205

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. R

PERFORMANCE CURVE SPECIFICATIONS

The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906 Annex A

The curves refer to effective speed of asynchronous motors at 50 Hz

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm%s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P, = pump power input (shaft power)

n pump efficiency
net positive suction head required by the pump
minimum efficiency index

206

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

TYPE KEY AND CURVE SPECIFICATIONS 50Hz

Rev. R

The minimun efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean
efficiency. The minimum efficiency index is based on the hydraulic efficiency and on the head at the best
efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point,leading to a reduced
energy consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variabile duty points may be more efficient end economical when
controlled,for example,by the use of a variable speed drive that matches the pump duty to the system.

MEI=0.4 for ESCC 2900 rpm MEI = 0.7 for ESCC 2900rpm
3 3
1w 825 10 | | 8B5S
Lm 820 gm0 8850
815
80 | __::n 8.0
- >
l m % 740
2 (950 r
10 nr:n. 10 5 o : 7290
l e £ = ~
0.0 120 i |I | 68.0
T |
M 860
680 00 640
%0 -
y | 840 :ﬁ
. im :}2}? 0 580
T80 200 580
56.0 54.0
4.0 520
52.0
00 450 - S0
10 ol 0 40 i s0 é T ; 80 100 — = = T =
#1c apwed ns ] 10 n 0 40 B:m m{,:;. ™ L] 80 100
MEI = 0.4 for ESOB 2900 rpm MEI = 0.7 for ESOB 2900rpm
% 3 8825
ind ! 8.0
- e 855
810 1 850
| 800 [ :',: 6.0
T80
80
| 0 7:_;:' ]“" u,:_n . T40
: 60 i : ;'na.o
1 e o0 | —— >
fon 720 840 g 80 TI0 0.0
T8 p E l . 6.0
' - 800 \ 8.0
| 580 s a0
200 :-: 820
520 w 1 Lot
- J20 m— 80
1 0
450 520
10 20 0 40 50 &0 ‘m & B w . 100 500
specific spoed ns [rpm] = .
10 0 30 40 50 (] T 80 80 100
spacific speed ns [rpm]

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
32-125/1.1 (1.1kW) MEI > 0.40 — impeller diameter = 133 mm
0 US.gpm. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
”5 0 Imp.g.p.m. 20 30 40 50 60 70 80
- 80
Ho ] H
[m] ST R
20 =
~~L_/25
= — 60
™~
S
15 N - 50
NG
Ny - 40
10
NPSH [~30
[m] [ft]
62020
5 5
| Al
NPSH ——— ™ 310110
2
i
0 0
0 50 100 150 200 250 300 350 Q [1/min]
[ I I I I I I I I I I ]
0 2 6 8 10 12 14 16 18 20 22 Q[m3h]
1.6
P2 i
[kw] ™ 125/1.1
0.8 —"
0.4
0 50 100 150 200 250 300 350 Q [1/min]
- HEE
1 ——— = 125/1.1
50 ]
1
40
30
0 50 100 150 200 250 300 350 Q [1/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
208

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
32-160/1.5 (1.5kW) MEI > 0.70 — impeller diameter = 151 mm
32-160/2.2 (2.2kW) MEI > 0.70 - impeller diameter = 166 mm
0 USgpm. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
0 Imp.g.p.m. 20 30 40 50 60 70 80
40 130
H e —120 H
[m] 35 = —~ 7 [ft]
~_ 76 110
%22
TN
30— 100
i \
~ N 90
~ ; N
25 \=6£/7,5 { .
NpsH |
N
2 [m] [t
N 55 60
0 7
20
15 5 4590
NPSH 510
= - 40
5
10
0 50 100 150 200 250 300 350 Q [I/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3n]
24
L ——-160/2.2
°2 20 — ] | |/ |
kW — .-
[kW] 16 —— 160/1.5
1.2 — ]
0.8
0 50 100 150 200 250 300 350 Q [I/min]
70
, T
" =160/2.2
[#] €0 P ~160/1.5
— !
==
50 =
40
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
209

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
32-200/3 (3.0kW) MEI > 0.70 — impeller diameter = 186 mm
32-200/4 (4.0kW) MEI > 0.70 — impeller diameter = 200 mm
32-200/5.5 (5.5kW) MEI > 0.70 — impeller diameter = 224 mm
32-200/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 224 mm
0 USgpm. 20 30 40 50 60 70 80 9 100 110 120 130
| ] ] ] ] ] | ] ] ] ] ] | ]
0 Imp.g.p.lm. 2 30 4 50 60 70 80 % 100 1o
80 - 260
H 240 H
[m] 70— S [ft]
I~ - 220
T~
™~ 2
60 T2, 200
N~
e 180
50 — 2 N2 i
NN 02 /4‘0 00/)§ 160
4 .
=L N NPSH | 140
T~ N
40 < P [m] [ft]
B ‘02/3;0 8 g5 20
™ /1
~ 6120
A L
30 ~ D ot 100
NPSH - ] —10
- 24 —80
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
[ I I I I I I I I I I I I I I ]
0 2 4 6 8 0 12 14 16 18 20 22 24 26 28 Q[m3h]
8
[TTT] L]
P2 5
200/5. .
8 / 200/7.5
4 = 200/4.0
200/3.0 |
2 L i L L L
0 50 100 150 200 250 300 350 400 450  Q [I/min]
n6° EEEEEN 11 1200/40 [TT1
50 —— 200/7.5
7] ,,g% 200/55 | | 20%/30
40 =
P
30 -
20
0 50 100 150 200 250 300 350 400 450  Q [I/min]
Rotation speed = 2900 min”
Test standard: ISO 9906 — Annex A
210

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

PERFORMANCE CURVE 50Hz

Rev. R

40-125/1.5 (1.5kW) MEI > 0.70 — impeller diameter = 125 mm
40-125/2.2 (2.2kW) MEI > 0.70 — impeller diameter = 140 mm

0 US.gpm. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
3.0 Ime-gpm 40 60 80 100 120 140 160
90
H —— H
T~ f
[m] 25 ~ 7 g MU
2
22
™S 70
20 i
T~ " — 60
~
722/7.5 N
15 I~ —50
\\\ NS
I - 40
C NPSH
0 h [m] [#] |- 30
™ 25
7_
4220
5 515
NPSH - = 341010
s
0 0
0 100 200 300 400 500 600 700 Q [1/min]
[ I I I I I I I I I I I ]
0 4 8 12 16 20 2% 28 32 36 40 4 Q[mh]
3
o L]
2 RN 125/2.2] ]
1 125/1.51
0
0 100 200 300 400 500 600 700 Q [1/min]
80
n — ~
— T~
[%] 70 == \ ~125/2.277]
o L]
60
d 125,15 |
50 | | ]
0 100 200 300 400 500 600 700 Q [1/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
211
% E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
40-160/3 (3.0kW) MEI > 0.70 — impeller diameter = 151 mm
40-160/4 (4.0kW) MEI > 0.70 — impeller diameter = 166 mm
0 US.gp.m. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
| I I I I [ I I I
.5 0 Imp.g.p.m. 40 60 80 100 120 140 160
140
H 0 H
S 130
[m] — [ft]
ST 120
/
35 b9 4.0
~ 110
I
30 T ™ 100
~~— 6 ™N L 90
~N00
25 ~J9
TN 80
S
‘ NPSH [-70
20 g [m] [ft]
- s 60
2
15 51520
NPSH ——
300
15
10
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I ]
0 12 16 20 24 28 32 36 40 4 Q[m3h]
5
[ T 1
P2 4 160/4.0—
[kw] - 1
3 —— 160/3.07]
2 — =
1
0 100 200 300 400 500 600 700 Q [I/min]
80
: 1]
— —~ 160/4.0
[%] 70 — 160/3.0T |
|
60 =
Ppra
50
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
212

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@P)IRECT

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
40-200/5.5 (5.5kW) MEI > 0.70 — impeller diameter = 183 mm
40-200/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 200 mm
40-200/11 (11kW) MEI > 0.70 — impeller diameter = 224 mm
0 USgpm. 40 60 80 100 120 140 160 180 200
| ] ] ] ] ] | ] ] ] ]
% 0 Imp‘g‘p.m.l 40 60 80 100 120 140 160
- 250
H T H
m] 70 T -200/11 230 [ft]
T—
~— 210
60 .
—_— P 190
200
25
~ 170
50 <
— N
— ~ 150
‘\ioﬁ/Sﬁ
40 \ NPSH 130
~ [m] [ft]
o~
L T o
30 = 515
NPSH — —"1 3 10 —90
5
1 L
20 70
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I I ]
0 4 12 16 20 24 28 32 36 40 44 Q[m3h]
12 T
Py 10 200,/11
kw] 8 — — Foro |
L] 5 = 200/7.5
200/5.5—]
4 LT
9 1]
0 100 200 300 400 500 600 700 Q [I/min]
80 ———
n 2 L 200/7.5]
% —
(%] 4o -
50 200/5.5 1=
40 200,/11
30 L 1|
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
213

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

PERFORMANCE CURVE 50Hz

Rev. R

50-125/2.2 (2.2kW) MEI > 0.50 — impeller diameter = 126 mm
50-125/3 (3.0kW) MEI > 0.50 — impeller diameter = 131 mm
50-125/4 (4.0kW) MEI > 0.50 — impeller diameter = 140 mm

0 USgpm. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
| I I | I | I
10 Impgpm. 50 100 150 200 250 300
H T T T H
[m] 25 T 7 [ft]
25 80
\‘/ <0
20 i N \\‘\
i e 125 L
~ 30 %
15 ™~ ;25‘ N
% N
22 N
N N\ - 40
N N
10 NPSH
[m] [ft]
62020
5 — 5 s
NPSH o o
el 9
s
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m¥/n]
6
|
P f f
[sz] 4 125/4.01—
= 125/3.0 7
2 125/2.2
. |
0 200 400 600 800 1000 1200 Q [I/min]
80
[2] 70 — E— —
° = SSSOUERE LN
~ T T
125/2.2 ™ 125/3.0 ||
50 | | ||
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min”’
Test standard: ISO 9906 — Annex A
214
5 E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
50-160/5.5 (5.5kW) MEI > 0.40 — impeller diameter = 154 mm
50-160/7.5 (7.5kW) MEI > 0.40 — impeller diameter = 166 mm
0 USgpm. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
| I | I I [ I
5 0 Imp.gpm. 50 100 150 200 250 300
160
H H
[m] 140 [ft]
40 —————T
~~ 16 -
<075 120
—— \\
~L ‘\
30 T~ 6 100
I 0/55
~
\\\ NPSH [~ 80
[m] [ft]
20 10
; N e
620
NPSH T .
—| 10
2 —40
10
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
8 —
P, - 160/7.5—
—T | L
] ° —— 0/5
) — 160/5.5-1
/’
2
0 200 400 600 800 1000 1200 Q [I/min]
80
: T 1
o ——— 160/7.5 |
) = 160/55 | |
7,
60 =
50
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
215

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

PERFORMANCE CURVE 50Hz

Rev. R

50-200/9.2 (9.2kW) MEI > 0.70 — impeller diameter = 191 mm
50-200/11 (11kW) MEI > 0.70 — impeller diameter = 200 mm
50-200/15 (15kW) MEI > 0.40 — impeller diameter = 224 mm

0 USgp.m. 50 100 150 200 250 300 350
| ] ] ] ] ] | ]
| I I I I | I
0 Impgpm. 50 100 150 200 250 300
80 - 260
H I 240 H
[m] 70 T = L \2@/75 [#t]
220
T~
60 ~— 200
T T — \'
\\‘2@/7 7 L 180
50 = ——200/9 » L 160
\\\ N
T~ N
NPSH [-140
0 ~— [m] [t
8|, 120
620
30 —— |, 100
NPSH — 1o
—] 2+ 8
20
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
Py - 200/15
e [
[kW] P —
12 — = 200/11
_— 200/9.2] |
6 —T |
0 200 400 600 800 1000 1200 Q [I/min]
80 | |
n = —
[%] 70 /4 —
200/9.2 /f///' e
60 200/11 —~
200/15
50 b
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
216
5 E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
65-125/4 (4.0kW) MEI > 0.50 — impeller diameter = 128 mm
65-125/5.5 (5.5kW) MEI > 0.50 — impeller diameter = 138 mm
65-125/7.5 (7.5kW) MEI > 0.50 — impeller diameter = 149 mm
0 USgp.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
w0 0 Imp.g.p.m. 100 200 300 400 500 600
—120
H
[m] (ft]
30 T 100
™
==L \\ J
- < N 3/55 80
- \\\ N ‘\
20 = 7
\ 25/5 5 N - 60
. N
e ~
7.
RN [m] [ft] [~ 40
10 SN NG “
\\ 8
620 |-20
NPSH g .
T 10
2
0 0
0 400 800 1200 1600 2000 2400 Q [1/min]
(I) 2|0 4|o slo slo 1[|)0 12|o 1)@0 Io [m3/h]
8 L —
P2 — 125/7.5
6 —
[kw] : - 125/5.5
4 =T 1
—T 125/4.0
2 1 L L
0 400 800 1200 1600 2000 2400 Q [1/min]
80
n T
[%] 70 = ~
N
60 ~\\ \\\ N 1‘25|/7.5
- 125/40 Ny N 125/55
0 400 800 1200 1600 2000 2400 Q [1/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
217

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
65-160/7.5 (7.5kW) MEI > 0.70 — impeller diameter = 153 mm
65-160/9.2 (9.2kW) MEI > 0.70 — impeller diameter = 161 mm
65-160/11 (11kW) MEI > 0.70 — impeller diameter = 168 mm
65-160/15 (15kW) MEI > 0.70 — impeller diameter = 178 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
0 Imp.g.p.m. 100 200 300 400 500 600
%0 L 160
H
[m] ~l_ /6 ~ 140 1)
=T T ~— /5
N
L . 120
= < o~ 7 ~
T NQOQK ~
T TT—=— 6, N 100
NS N 80
\\\ NS \\‘
20 ™S
N 60
N NPSH
NG Y
[m] [ft]
— 1 620 -40
10 - 5
7 15
NPSH — 4
— 310 20
2
ot
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
(|> zlo 4|o slo slo 160 12|o 1)10 I0 [m3/h]
16 T 1
P, — 160/15
[w] 12 L 160/11
—— [ — 160,/9.2
4 — [ | !
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
% 80 —
" =§§:\:\\
I 160/15
70 \\i\ I160/11‘
NS 160/9.2—
5 160/7.5 177 |
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
218

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

PERFORMANCE CURVE 50Hz

Rev. R

65-200/15 (15kW) MEI > 0.70 - impeller diameter = 190 mm
65-200/18.5 (18.5kW) MEI > 0.70 — impeller diameter = 201 mm
65-200/22 (22kW) MEI > 0.70 — impeller diameter =212 mm

0 USgpm. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
I I I I I [ I
0 Imp.gpm. 100 200 300 400 500 600
I e M I - 220
H H
N
% i N2
] N N
Y 2 h —180
T R 00/7:9 N
50 ~ NCS N
N - 160
275 N h
S NG 140
40 N
N 120
N NPSH
N [m] [t
30 30 —100
8
NPSH 6——20
S 4 80
10
2
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
24
P, — ———200/22
[kw] — = 200/18.5
16 — —
— — 200/15
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[%] 80 — 200/22
S 200/18.5
70 e 200/15
60
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min”
Test standard: ISO 9906 — Annex A
219
5 E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

PERFORMANCE CURVE 50Hz

Rev. R

65-250/30 (30kW) MEI > 0.70 — impeller diameter = 235 mm
65-250/37 (37kW) MEI > 0.70 — impeller diameter = 250 mm

0 U.S.gp.m. 100 200 300 400 500 600 700
| | | | | | | |
| T T | T | T
100 0 Imp.gp.m. 100 200 300 400 500 600
H ] —300 H
[m] ~_2%0,3, [#t]
_—
80 >~
I s e O \250/50 \\\ =250
\\ \
60 — 200
NPSH
[m] [ft]
104 —150
— 30
40 Z 812
NPSH — 620
// 4 15 100
— | —10
275
20
0 400 800 1200 1600 2000 2400 Q [I/min]
| | | | | T | T |
0 20 40 60 80 100 120 140 Q [m3/h]
40 —
"2 % T 250757
[kw] | T 250/30
20 // I
p—
10
0 400 800 1200 1600 2000 2400 Q [I/min]
80 ‘ ‘
n \\ \ T T
[%] 70 = 250/37 —
74,4 250/30
60
50
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed = 2900 min”
Test standard: ISO 9906 — Annex A
220
5 E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

PERFORMANCE CURVE

50Hz

80-160/11 (11kW) MEI > 0.70 — impeller diameter = 154 mm
80-160/15R (15kW) MEI > 0.70 — impeller diameter = 160 mm
80-160/15 (15kW) MEI > 0.70 — impeller diameter = 165 mm
80-160/18.5 (18.5kW) MEI > 0.70 — impeller diameter = 174 mm

0 USgpm. 200 400 600 800 1000 1200
\ \ \ \ \ \ |
[ I I I I |
0 Imp.g.p.m. 200 400 600 800 1000
%0 160
H
[m]
40 =
~ 7 120
S e e e S
—_—— N
- 75 100
30 I S N B i*\\\ 0//5 \
—— /60 N
~ Js ™ N\ - 80
~. 60, N
20 7 AN
N
Q N - 60
I LY
N NPSH
[m] [ft]1 49
10 10
30
NPSH 8-
— — — 62020
4%
;10
0 0
0 1000 2000 3000 4000 Q [I/min]
\ \ \ \ | \ \
0 50 100 150 200 250 Q [m3/h]
20
., | —1 160/18.5
"
(kW] 16 [ 160/15
0 —— — 160,/15R
’/’ — .
. — 160/1
0 1000 2000 3000 4000 Q [I/min]
90
n \
7] &0 SN0
NN 160/15
70 \ N |
\ N 160,/18.5
160/11°N" 160,/15R [ ]
60 — —
0 1000 2000 3000 4000 Q [I/min]
Rotation speed = 2900 min”
Test standard: ISO 9906 — Annex A

Rev. R

221

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
80-200/22 (22kW) MEI > 0.60 — impeller diameter = 196 mm
80-200/30 (30kW) MEI > 0.60 — impeller diameter = 211 mm
80-200/37 (37kW) MEI > 0.60 — impeller diameter = 219 mm
0 USgpm. 200 600 800 1000 1200
| | | | | |
80 (IJ Imp.g.p.m. 2(|)0 4(|)0 6(IJO 8(|)0 10|00
250
H H
[m] L [ft]
T~
60 \-*\\ - 200 /57 —200
—— %\
~30 N
——Jd ~ =
—~— . \\\\\‘ 150
0 I~ 00/22 \\ \\
N ~
\\ \\\
N 100
N NPSH
[m] [ft]
20 8 45
— 620150
NPSH | "
p—
" 10
25
0 0
0 1000 2000 3000 4000 'Q [1/min]
0 50 100 150 200 250 Q [n: 3]
40 —
P, — 200/37
[kw] %0 —— 200/30
2 —_— 200/22
e |
10 |
0 1000 2000 3000 4000 Q [I/min]
90
n
[%] 80 —
= N ] 200/37
g \\ \ I I
70
7 N 200/30
# 200/22 o
60 | | | ‘ ‘
0 1000 2000 3000 4000 Q [I/min]
Rotation speed = 2900 min”
Test standard: ISO 9906 — Annex A
222

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

PERFORMANCE CURVE 50Hz
Rev. R
80-250/37 (37kW) MEI > 0.60 — impeller diameter = 230 mm
80-250/45 (45kW) MEI > 0.60 — impeller diameter = 245 mm
80-250/55 (55kW) MEI > 0.60 — impeller diameter = 259 mm
0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ] |
| I I I I
0 Imp.g.p.m. 200 400 600 800 1000
100 _mP-g-P-m
’ - "‘l—\\\ 25 L300 "
0
[m] e — i s [ft]
80 — T~
250 | N - 250
Il e e = s N
™ N N
255 )
60 %55 \\\ - 200
NS \\
\\ \\
\\ \\1 150
40 \\1
NPSH 100
[m] [ft]
20 8 %
NPSH = 6—20{-50
— 415
10
25
0 0
0 1000 2000 3000 4000 Q [I/min]
<|> 5‘0 1(‘)0 15‘30 2(‘)0 2%0 Q [n: 3/n]
70 —
P, 250,/55
[kw] >0 _— 250,/45
// |t
30 -:_—____ 250/37
10 ||
0 1000 2000 3000 4000 Q [I/min]
80
'r] t\ ~
[%] 70 f/ NSNS
5’0 N 250/55
60 \\ \\ T
250/37 — 250,45
50 | | | | I |
0 1000 2000 3000 4000 Q [I/min]
Rotation speed = 2900 min™'
Test standard: ISO 9906 — Annex A
223

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3(.)M 32, 40, 50, 65-125/160/200

UP TO 11 kW
1 4 26 77 56 6 17 58 6 12 2
7
73
30
54
(
25 200 11 3 23518 92 19 22 47 20 15
15 KW AND ABOVE
206 :
| e || @
| SN Bs
- i
=+ 4 TITE
0 B
iR )
|
3 :
] | 1]
244
300
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE 3(.)M 32, 40, 50, 65-125/160/200

N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
3M | 3LM
001|Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 |Motor bracket [9] 1
004 |Casing cover EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
006 | Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI304) | EN 1.4404 (AISI 316L) 1
007 |Impeller EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
011 |[Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [8] 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014|Fan PA 1
015|Fan cover Fe P04 Galvanized 1
016 | Terminal - 1
017 | Terminal box cover Aluminium (three phase version) 1
. [Upto 11 kW 40x21.5x3
018|Splash ring [75 kW and above NBR / 50x29 53 EBARA DRAWING | 1
019 |Bearing - See table p.324 1
020 |Bearing - See table p.324 1
021 |Adjusting ring Steel C70 1
Up to 3 kW M5
022 Tie rod For4-5.5-7.5kW Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Galvanized Steel 8.8 strenght class ISO 898-1 M10x40 UNI 5739
25 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026]"0" ring 32-160, 40-160, 50-125, 65-160 NBR [7] EPM 183.52x5.34 OR 6720 1
82-200, 40-200,50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200
Up to 11 kW A 6x6x25
032|Key 15 kW and ab0ve EN 1.4401 (AISI 316) A Bx7x30 UNI 6604 1
Up to 11kW M16x1.5
034 |Impeller nut [50-200/15 EN 1.4301 (AIS1 304) | EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Aluminium / Galvanized steel EBARA DRAWING | [1]
056 |Box gasket NBR 1
058|Fasting nut - [2]
072|Casing ring [3] EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
073 |Casing ring EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
Up to 3kW 25x40x7
092 Lip seal From 4 to 7.5 kW R R 30x47X7 _DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
093 |Lip seal From 5.5 kW to 7.5 kW _ R 30x47X7 'DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101|Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 3 40 UNI 7435 1
32-125, 40-125 M 8x30 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 4]
50-200, 65-125, 65-160, 65-200
32-125, 40-125 8.4x17 8
235|Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) 10.5x21 UNI 6592 4
50-200, 65-125, 65-160, 65-201 i
206 |Screw for bracket [5] Galvanized Steel 8.8 strenght class ISO 898-1 M 10x40 UNI 5739 4
244 |Pin [6] - [ EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request, see table p. 335-336
[1] Quantity =0 for 65-160/15
Quantity =1 for 32-40-50 and 65 up to 11kW
Quantity =2 for 65-200/15, 65-200/18.5, 65-200/22
[2] Quantity =1 up to 11kW
Quantity =2 from 15kW to 22kW
[3] For version 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5,
50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] For 15kW and above
[6] Only for 65-160/15 and 65-200
[7] FPM for H-HS-HW-HSW version
EPDM for E version

[8] Special version: see page 326 and following

[9] Cast iron EN-GJL-200-EN 1561 for 32-200/3 and models with 15, 18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others.

Rev. R

301

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. R
SECTIONAL VIEW DRAWING 3LMZ 32, 40, 50, 65-125/160/200
UP TO 11 kW
1 4 20 72 18 56 16 17 58 6 12 21
14
— 93
25 200 11 & 235 50 92 19 22 101 20 15 15
15 KW AND ABOVE
- el
= | éug\ i
] [ Q — )
| " I
- = — 4 - S =
[ - | .
= =
e [ I
302
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION

50Hz

SECTIONAL VIEW TABLE 3LMZ 32, 40, 50, 65-125/160/200

N° PART NAME MATERIAL DIMENSIONS STANDARD QTY
001 |Casing EN 1.4404 (AISI 316L) 1
003 |Motor bracket [8] 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor-Part in contact with liquid EN 1.4404 (AISI 316L) 1
007 |Impeller EN 1.4404 (AISI 316L) 1
011 |Mechanical seal SiC/SiC/FPM [71 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015 |Fan cover Fe P04 Galvanized 1
016 |Terminal - 1
017 |Terminal box cher Aluminium 1
) Up to 11 kW 40x21.5x3
018 |Splash ring [15 kW and above / 50%29 553 EBARA DRAWING 1
019 |Bearing - See table p. 324 1
020 |Bearing - See table p. 324 1
021 |Adjusting ring Steel C70 1
Up to 3 kW M5
022 Tie rod For4-5.5-7.5kW Fe 42 Galvanized M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Galvanized Steel 8.8 M10x40 UNI 5739
25 |Draing plug AlSI 316 / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"O" ring 32-160, 40-160, 50-125, 65-160 EPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200 ) )
Up to 11 kW A 6x6x25
032 |Key 15 kW and above EN 1.4401 (AISI 316) A 8x7x30 UNI 6604 1
Up to 11kW M16x1.5
034 |Impeller nut  |50-200/15 EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Al / Galvanized steel EBARA DRAWING | [1]
050 |Casing foot (only from 1.1 kW to 11 kW) Galvanized steel 1
056 |Box gasket NBR 1
058 |Fasting nut - [2]
072 |Casing ring [3] EN 1.4404 (AISI 316L) 1
073 |Casing ring EN 1.4404 (AISI 316L) 1
Up to 3kW 25x40x7
. From 4 to 7.5 kW 30x47X7 DIN 3760
092 |Lip seal From 9.2 kW to 11 kW . 40x55x7 without spring 1
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
) From 5.5 kW to 7.5 kW 30x47X7 DIN 3760
093 |Lip seal From 9.2 KW to 11 kW . 40x55x7 without spring 1
From 15 kW to 22 kW 45x60x7
101 |Snap ring (only 9.2 and 11kW) Carbon tool steels TC 80 @ 40 UNI 7435 1
32-125, 40-125 ) M8 8
200 |Screw 40-160, 40-200, 50-125, 50-160, St;g;isfsge;;@é 170 MO UNI 5739 ”
50-200, 65-125, 65-160, 65-200
32-125, 40-125 8.4x17 8
235 |Washer 40-160, 40-200, 50-125, 50-160, EN 1.4301 (AISI 304) 10.5x21 UNI 6592 [
50-200, 65-125, 65-160, 65-201 )
206 |Screw for bracket [5] Galvanized Steel 8.8 M 10x40 UNI 5739 4+4
244 |Pin [6] EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request, see table p. 335-336

[1] Quantity =0 for 50-200/15 and 65-160/15

Quantity =1 for 32-200/7.5, 40-200/7.5/11, 50-160/7.5, 50-200/9.2/11, 65-125/7.5, 65-160/7.5/9.2/11

Quantity =2 for 65-200/15/18.5/22
[2] Quantity =1 up to 11kW
Quantity =2 from 15kW to 22kW

[3] For version 32-200/3/4/5.5, 40-200/5.5/7.5/11, 50-160/5.5/7.5, 50-200/9.2/11/15

[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125

Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[5] For 15kW and above
[6] Only for 65-160/15 and 65-200

[7] Special version: see page 326 and following

[8] Cast iron EN-GJL-200-EN 1561 for 32-200/3 and models with 15, 18.5, 22 kW motor
Aluminum AL-EN-1706-AC-46000-D for all the others.

Rev. R

303

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LM 80-160/11

75 24 77

I

13 14 15

6 12

201 42 22 220 20 21 93

58

7 25 76 78 235200 244 18 92 19 101
200A

1 34 32 11 4 26 3 5 16 17

304

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LM 80-160/15R/15/18.5

75 24 77

12 13 14 15

22 20 21 93 230 201

| !
)

=
Iy

58

N

25 76 78 34 11 235200244 92 19

T

200A

T

V)]

7 32 4 26 3 18 206 56 16

1

305

I
5

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. R
SECTIONAL VIEW TABLE 3LM 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor EN 1.4404(AlSI 316L) - Wet extension 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 [Mechanical seal SiC/SiC/FPM [5] 1
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan PA 1
015 |Fan cover Fe P04 Galvanized 1
016 |Terminal - 1
017 |Terminal box cover Aluminium 1
018 |Splash ring NBR 50x29.5x3 EPE DRAWING 1
019 |Bearing - See table p. 324 1
020 |Bearing - See table p. 324 1
021 |Adjusting ring Steel C70 1
022 |Screw Galvanized Steel 8.8 strenght class ISO 898/1 EPE DRAWING 4
024 (Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
026 |"O" ring FPM 227.96x5.34 OR 6895 1
032 |Key EN 1.4404 (AISI 316L) 8x7x30 UNI 6604 1
034 |Impeller nut Aluminium M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING [1]
056 |Box gasket NBR 1
058 |Fasting nut - [2]
075 |Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) 1
078 |O-ring (plug) FPM 14] 1
092 Lip seal 11 kW ) 40x55x7 DIN 3760 1
15-18.5 kW 45x60x7 without spring 1
093 Lip seal 11 kW ) 40x55x7 DIN 3760 1
15-18.5 kW 45x60x7 without spring 1
101 |Snap ring (only 11 kW) Carbon tool steels TC 80 40 UNI 7435 1
oo Stainless steel A2-70 class ISO 3506/1 s UNI 5739 2
201 |Screw 1; I-(:VSS W Stainless steel A2-70 class ISO 3506/1 l\'>|/|162)(:fo UNI 5739 1
206 |Screw for bracket (only 15 - 18.5 kW) Galvanized steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
220 |Nut for tie rod (only 11 kW) Galvanized steel M10 4
11 kW - - - -
230 |Washer 45 g 5 kW Galvanized steel 13x24x2.5 UNI 6592 4
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 6592 12
244 |Pin [3] EN 1.4301(AISI 304) 4x15 1
Counterflange kit on request, see p. 335-336
[1] Quantity =1 for version 80-160/11
Quantity =2 for version 80-160/15R, 80-160/15 and 80-160/18.5
[2] Quantity =1 for version 80-160/11
Quantity =2 for version 80-160/15R, 80-160/15 and 80-16018.5
[3] Not for H and E version
[4] EPDM for E version
[5] Special version: see page 326 and following
306

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3(.)S 32, 40, 50

2
[ | | ]
el )
& ©
? 1
N | N | 0 | O |
S | N | 0 | O |
i [ L id Bed
L

207
7 4 2611 3 44 206
A
L ! 1 =
|
— l{:
— i
A | B - (
- | = = W
5 nnpnnnnnnn
Ej§§f\ ‘ guuuguuuuu :
! ¢ /
j | ] — ] [
N - [} / ‘ i
RSl 1/ 1/ —
17 N
73 34 32 25 200 72 6 42 12
307
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3(.)S 65-125/160/200

SA =

T

11 nnpnnan

|
_ H€?E#'*‘*** R | I \
L] ‘ UULULUUL ,
H 7 — i il
| ] Feg=—————= F————m7
# § #
2062
[W =
1 5
1 D ——
/."\ L
! - B L 8
! T&UUUUUUUOU& >
| [ | n1ANANNANNNNN ( )
| i } ,
T i e M<‘*’7 ’’’’’ M ] [e—mam—m———— T B
‘ \ yuuuuuuuuuuulg | ) ’
: 1000000000000 ‘
5 — — P
) | j V
R =S (1 L
il I = (i
L 244
308
% E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

Rev. R
SECTIONAL VIEW TABLE 3(.)S 32, 40, 50, 65-125/160/200
MATERIAL DIMENSIONS STANDARD
N° PART NAME QTY
3S 3LS

001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 333 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
011 |Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM [7] 1
012 |Motor - 1
025 |[Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1

32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 22_]22’ 407160, 50-125, NBR [8] EPM 183.52x5.34 OR 6720 ;

Zé.ﬁggj gg_fgg:sgsjf& 227.96x5.34 OR 6895

Up to 11 kW 6x6x25
032 |Key EN 1.4401 (AISI 316) UNI 6604 1

15 kW and above 8x7x30

Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1

15 kW and above M20x1.5
042 |Foot Aluminium / Galvanized steel [2]
044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING| 1
072 |Casing ring [3] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1

32-125, 40-125 ) M 8x30 UNI 5739 8
200 |Screw Stainless steel A2 70 class ISO 3506/1

50-200, 65-125, 65-160, 65-200 M 10x35 UNI 5739 [4]
201 |Screw Galvanized Steel 8.8 strenght class ISO 898/1 M 10x16 UNI 5739 [5]
206 |Screw for bracket Galvanized Steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
206-2|Screw adapter ring [1] Galvanized Steel 8.8 strenght class ISO 898/1 UNI 5931 4

32-125, 40-125 ) M 8.4x17 UNI 6592 8
235 |Washer Stainless steel A2 70 class ISO 3506/1

50-200, 65-125, 65-160, 65-200 M 10.5x21 UNI 6592 [4]
244 |Pin [6] EN 1.4301 (AISI 304) UNI 5931 4

Counterflange kit on request see p. 335-336

[1] Only for version 65-125/5.5 and 65-125/7.5
[2] Quantity =0 for version 65-200/22
Quantity =1 for version for 32, 40, 50, 65-125/5.5, 65-125/7.5, 65-160/11, 65-160/15, 65-200/15, 65-200/18.5
Quantity =2 for version for 65-125/4, 65-160/7.5, 65-160/9.2
[3] Only for version 32-200, 40-200, 50-160, 50-200
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2
[6] Only for 65-160/15, 65-200
[7] Special version: see page 326 and following
[8] FPM for H-HS-HW-HSW version
EPDM for E version

309

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LSZ 32, 40-125/160, 40-200/5.5/7.5
50-125/160, 50-200/9.2, 65-125, 65-160/7.5/9.2

7\ T4 20 11 35 44 206
u \ \‘ ‘\ |
) )

: —

i

] /
e

| —

75 34 32 25 200 72 235 6 50 42 12

206—2  3A

;
©
9

hl annnanaT

L] ‘ LUUUULY

310

% E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LSZ 40-200/11, 50-200/11/15, 65-160/11/15, 62-200

|
— } - }
T | 7000000000000 (
A Ty I

ol ‘ "\ UTTUU0000TTY ‘
g | 0000000000000] <

| | j |

| | on T
i L
244 Hi T4
311
g € EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION 50Hz
Rev. R
SECTIONAL VIEW TABLE 3LSZ 32, 40, 50, 65-125/160/200
DIMENSIONS STANDARD
N° PART NAME MATERIAL Q.TY
001 |Casing EN 1.4404 (AISI 316L) 1
003 [Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4404 (AISI 316L) See table p. 333 1
007 |Impeller EN 1.4404 (AISI 316L) 1
011 |Mechanical seal SiC/SiC/FPM [7] 1
012 |Motor - 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
32-160, 40-160, 50-125,
026 |"0" ring 65-125 FPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160,
50-200, 65-160, 65-200 227.96x5.34 OR 6895
Up to 11 kW 6x6x25
032 |Key EN 1.4401 (AISI 316) UNI 6604 1
15 kW and above 8x7x30
Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Aluminium / Galvanized steel [2]
044 |Protection EN 1.4301 (AIS] 304) EBARA DRAWING| 1
050 |Casing foot (only from 1.1 kW to 9.2 kW) Galvanized Steel 1
072 |[Casingring [3] EN 1.4404 (AISI 316L) 1
073 |[Casing ring EN 1.4404 (AISI 316L) 1
32-125, 40-125 Stainless steel A2 70 class ISO M 8x30 UNI 5739 8
200 |Screw
50-200, 65-125, 65-160, 65-200 3506/1 M 10x35 UNI 5739 [4]
201 |Screw Galvanized Steel 8.8 M 10x16 UNI 5739 [5]
206 |Screw for bracket Galvanized Steel 8.8 M 10x40 UNI 5739 4
206-2 |Screw adapter ring [1] Galvanized Steel 8.8 UNI 5931 4
32-125, 40-125 Stainless steel A2 70 class ISO M 8.4x17 UNI 6592 8
235 [Washer
50-200, 65-125, 65-160, 65-200 3506/1 M 10.5x21 UNI 6592 [4]
244 |Pin [6] EN 1.4301 (AISI 304) UNI 5931 4
Counterflange kit on request see p. 335-336
[1] Only for version 65-125/5.5/7.5
[2] Quantity =0 for version 65-200/22
Quantity =1 for version for 32-125/160, 50-125/2.2
Quantity =2 for version for 32-200, 40-125/160/200, 50-125/3/4, 50-160/200, 65-125, 65-160, 65-200/15/18.5
[3] Only for version 32-200, 40-200, 50-160, 50-200
[4] Quantity =10 for 32-160, 40-160, 50-125, 65-125
Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2
[6] Only for 65-160/15, 65-200
[7] Special version: see page 326 and following

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LS 80-160

75 24 77

12

42

235 200 244 6
200A

000000

25 76 78

313

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. R
SECTIONAL VIEW TABLE 3LS 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD [Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4404 (AIS] 316L) See table p. 333 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal SiC/SiC/FPM [3] 1
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
026 |"O" ring FPM [2] 227.96x5.34 OR 6895 1
032 (Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING | 2
044 |Protection EN 1.4301 (AISI 304) EPE DRAWING | 2
075 |Washer (plug) 1
EN 1.4404 (AISI 316L
076 |Washer (plug) 04 (AISI 316L) 1
077 |O-ring (plug) 1
FPM [2

078 |O-ring (plug) [2] 1
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200A [Screw class ISO 3506/1 M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5x21 UNI 6592 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request see p. 335-336

[1] Not for H and E version.

[2] EPDM for E version

[3] Special version: see page 326 and following

314

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LS 65-250, 80-200/250

75 24 77

I N
U
/:,lf 1 [
|
N
42 12

< j . \
")\ﬁ @m — @n mm ©
= : 3
3 | :
g ; 2
<+ == Hl— T——&
% <+
~—— S — [ 2
o \\\_(D
M ~
- 2
315
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. R
SECTIONAL VIEW TABLE 3LS 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS STANDARD |Q.TY
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring Cast iron EN-GJL-200-EN 1561 [1]
004 |Casing cover EN 1.4401 (AISI 316) 1
004A |Screw for casing cover EN 1.4301(AIS| 304) 2
g - EN 1.4404 (AISI 316L) for 22 kW 1
65-250] d=24 MM —=N= 2762 (Duplex stainless steel) for 30-37 kW 1
006 Coupling _ EN 1.4404 (AISI 316L) for 22 kW See table p. 333 1
80-200| d=24 MM =762 (Duplex stainiess steel) for 30-37 KW 1
80-250]| d=29 mm EN 1.4462 (Duplex stainless steel) 1
007 |Impeller EN 1.4401 (AISI 316) 1
011 |Mechanical seal SiC/SiC/FPM [6] 1
012 [Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING | 1
026 |"O" ring FPM [5] 253.36x5.34 OR 6995 1
65-250 | ,_ 1
032 |Key 80-200 | 4524 MM EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250 | d=29 mm 8x7x40 1
. 65-250 | 1
034 'r:]fe”er 80-200 | 4724 MM EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
85-250 | d=29 mm M24x2 1
042 |Foot for motor Aluminium [2]
EPE DRAWING
042A |Foot for pump Aluminium/Galvanized steel (only for 80-250/55) [3]
075 |Washer (plug) 1
EN 1.4404 (AISI 316L
076 |Washer (plug) 04 (AIS1 316L) 1
077 |O-ring (plug) 1
FPM
078 |O-ring (plug) [5] 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer C70 13 UNI 1751 10
244 |Pin [4] EN 1.4301(AISI 304) 4x12 1
Counterflange kit on request, see table p. 335-336
[1] Only for 65-250/37 , 80-200/37 , 80-250/37 — 80-250/45 and 80-250/55
[2] Quantity =2 for 80-250/55
[3] Quantity =2 for 80-200/30 , 80-200/37 , 80-250/45
Quantity =1 for 80-250/55
[4] Not for H and E version
[5] EPDM for E version
[6] Special version: see page 326 and following

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3(.)P 32, 40, 50, 65-125/160/200

|
. )
|
s
|
o0 L | ‘
m I
@ ‘ »
i E ~ <
I 1 r— | N
i | N
< [ T |
— 8!
~ ||
s— 1] :
’ - { ™~
<@]
O
S x 9
| |
‘ —
© |
o | 3
S |
N
~ | ~
(@)]
— ‘ | — §
) | —
™ ™
[@]
N
|
N~
317
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION

50Hz

Rev. R
SECTIONAL VIEW TABLE 3(.)P 32, 40, 50, 65-125/160/200
N° PART NAME MATERIAL DIMENSIONS STANDARD Q1Y
3P | 3LP
001 |Casing EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L) 1
006 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) | EN 1.4404 (AIS] 316L) 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 334 1
007 [Impeller EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L) 1
011 |Mechanical seal Carbon/Ceramic/NBR | SiC/SiC/FPM [5] 1
012 |Motor - 1
019 |Bearing - See table p. 325 1
020 |Bearing - See table p. 325 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 32-160, 40-160, 50-125, 65-125 NBR [4] EPM 183.52x5.34 OR 6720 1
82-200, 40-200, 50-160, 227.96x5.34 OR 6895
50-200, 65-160, 65-200
Up to 11 kW 6x6x25
032 |Key 15 KW and abowe EN 1.4401 (AISI 316) Bx7x30 UNI 6604 1
033 |Key C 40 8x7x40 UNI 6604 1
Up to 11kW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Pump support Fe 37 Galvanized EBARA DRAWING | 1
42A |Base Fe 37 Galvanized 1
044 |Protection Fe 37 Galvanized 1
050 |Foot Aluminium / Galvanized steel 1
058 |Fasting nut - 1
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casing ring [1] EN 1.4301 (AISI 304) [ EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) | EN 1.4404 (AISI 316L) 1
092 ["V" ring - VS - 0030 1
093 |"V" ring - VS - 0030 1
32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1
50-200, 65-125, 65-160, 65-200 M 10x35 UNI5739 2l
244 |Pin [3] / [ EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request see p. 335-336

[1] For version: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-1607.5,

50-200/9.2, 50-200/11, 50-200/15
[2] Quantity =10 for 32-160, 40-160, 50-125, 65-125

Quantity =12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Only for 65-160/15 and 65-200
[4] FPM for H-HS-HW-HSW version
EPDM for E version

[5] Special version: see page 326 and following

318

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LP 80-160

7% 24 77

42

3 6 20 67 93

1 244

3 <
S 88
g
b
319
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250

8 9
5 | ‘
] | |
© - 1
|
|
|
2 | -
2 | 3
8 | = g
S % N
9] ; o)
r1e¥ 2
, \
|
ﬂt —=_ N\ |
‘ m
Y ‘
R ‘ I
]! ; i
INNNYY!
320
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

SECTIONAL VIEW DRAWING 3LP 65-250, 80-200/250

|
|
|
»

j ol Ein
i
AR i |
o _ \ \
%i i | |
| L /4

Py

l

—

|~

5/ E

321

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION 50Hz
Rev. R
SECTIONAL VIEW TABLE 3LP 80-160
N° PART NAME MATERIAL DIMENSIONS STANDARD |Q.TY
001 |Casing EN 1.4401 (AIS1316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI1316L) 1
006 |Shaft EN 1.4404 (AISI316L) - Wet extension 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
007 |Impeller EN 1.4401 (AISI316) 1
011 |Mechanical seal SiC/SiC/FPM [3] 1
012 [Motor - 1
019 |Bearing - See table p. 325 1
020 |Bearing - See table p. 325 1
024 |Plug EN 1.4404 (AISI1316L) G3/8 EPE DRAWING| 1
025 [Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING| 1
026 ["O" ring FPM [2] 227.96x5.34 OR 6895 1
032 [Key EN 1.4401 (AIS] 316) 8x7x30 1
033 [Key C 40 8x7x40 UNI 6604 1
034 |Impeller nut EN 1.4404 (AIS] 316L) M20x1.5 UNI 7474 1
042 [Pump support Galvanized steel EPE DRAWING| 1
042A|Base Galvanized steel EPE DRAWING| 1
044 |Protection Galvanized steel EPE DRAWING| 1
050 |Foot Aluminium EPE DRAWING| 2
050A | Spacer for pump / /
050B | Spacer for pump / /
050C |spacer for protection / /
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 [Washer (plug) 1
076 [Washer (plug) EN 1.4404 (AIS] 316L) 1
077 |O-ring (plug) 1
FPM [2

078 [O-ring (plug) [21 1
089 |Snap ring Carbon tool steels TC 80 J 40 UNI 7435 1
092 |"V"ring 1
093 ["V"ring i VS-0030 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200A|Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 UNI 6873 1

Counterflange kit on request, see table p. 335-336

[1] Not for H and E option.

[2] EPDM for E version

[3] Special version: see page 326 and following

For drawing see p.319

322

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

CONSTRUCTION 50Hz
Rev. R
SECTIONAL VIEW TABLE 3LP 65-250, 80-200/250
N° PART NAME MATERIAL DIMENSIONS |STANDARD|Q.TY
001 |Casing EN 1.4401 (AIS1316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI316) 1
004A |Screw for casing cover EN 1.4301 (AISI 304) 2
006 |Shaft . . 1
EN 1.4462 (Duplex stainless steel) - Wet extension
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 334 1
007 |Impeller EN 1.4401 (AIS1316) 1
011 |Mechanical seal SiC/SiC/FPM [5] 1
012 |Motor - 1
019 |Bearing - See table p. 325 1
020 |Bearing - See table p. 325 1
024 |Plug EN 1.4404 (AISI316L) G3/8 1
025 |Plug EN 1.4404 (AISI316L) G3/8 1
026 |"O" ring FPM [4] 253.36x5.34 OR 6995 1
65-250 _ 1
032 |[Key  80-200| 9724MM EN 1.4401 (AISI 316) 8x7x30 UNI 6604 | 1
80-250| d=29 mm 8x7x40 1
033 |Key C 40 10x8x60 UNI 6604 1
. 65-250 _ 1
034 :Ef’e"er g0-200 9724mMM EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 | 1
80-250| d=29 mm M24x2 1
042 |Pump support Galvanized steel 1
042A [Base Galvanized steel 1
044 |Protection Galvanized steel 1
050 [Foot (only for 65-250/22kW) Aluminium 2
050A |Spacer Aluminium [1
050B |Spacer Aluminium [2]
050C |Spacer for protection Aluminium [3]
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 [Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 [Washer (plug) 1
076 [Washer (plug) EN 1.4404 (AIS] 316L) 1
077 |O-ring (plug) 1
FPM [4
078 |O-ring (plug) [4] 1
089 |Snap ring Carbon tool steels TC 80 @50 UNI 7435 1
092 |"V" ring 1
093 ["V" ring - VS-0040 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 | 10
244 |Pin [3] EN 1.4301 (AISI 304) 4x12 UNI 6873 1
Counterflange kit on request, see table p. 335-336
[1] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[2] Quantity =0 for 65-250, 80-200/22 and 80-250/55
Quantity =2 for 80-200/30, 80-200/37 and 80-250/45
[3] Not for H and E option.
[4] EPDM for E version
[5] Special version: see page 326 and following
For drawing see p.320-321
323

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION 50Hz
Rev. R
BEARINGS 3(.)M
Pump type Ball bearing
Single Phase Three Phase Pump side Fan side
50 Hz 50 Hz
3(.)M 32-125/1.1 M 3(.)M(Z) 32-125/1.1
3(.)M 32-160/1.5 M 3(.)M(Z) 32-160/1.5
6205-SRSH
3(.)M 32-160/2.2 M 3(.)M(Z) 32-160/2.2 6205-SRSH
3(.)M(Z) 32-200/3
) 3(.)M(Z) 32-200/4 6206-2RS1
3(:M(2) 32-200/5.5 6306-2RS1 6206-2RS1
3(.)M(Z) 32-200/7.5
3(.)M 40-125/1.5 M 3(.)M(Z) 40-125/1.5
3(.)M 40-125/2.2 M 3(.)M(Z) 40-125/2.2 6205-SRSH 6205-SRSH
3(.)M(Z) 40-160/3
3(.)M(Z) 40-160/4 6206-2RS1
i 3()M(Z) 40-200/5.5 6306 2RS1 6206-2RS1
3(.)M(Z) 40-200/7.5
3(.)M(Z) 40-200/11 6308-2RS1 6208-2RS1
3(.)M 50-125/2.2 M 3(.)M(Z) 50-125/2.2
6205-SRSH
3(.)M(Z) 50-125/3 6205-SRSH
3(.)M(Z) 50-125/4 6206-2RS1
3(.M(2) 50-160/5.5 6306-2RS1 6206-2RS1
3(.)M(Z) 50-160/7.5
3()M(Z) 50-200/9.2 6308-2RS 1 6208-2RS1
3(.)M(Z) 50-200/11
3(.)M(Z) 50-200/15 6309-2RS1 6309-2RS1
3(.)M(Z) 65-125/4 6206-2RS1 6205-SRSH
3(.)M(Z) 65-125/5.5
3(.)M(Z) 65-125/7.5 6306-2RS1 6206-2RS1
- 3(.)M(Z) 65-160/7.5
3(:)M(Z) 65-160/9.2 6308-2RS1 6208-2RS1
3(.)M(Z) 65-160/11
3(.)M(Z) 65-160/15
3(M(Z) 65-200/15 6309-2RS1 6309-2RS1
3(.)M(Z) 65-200/18.5
3(.)M(Z) 65-200/22
3LM 80-160/11 6308-2RS1 6208-2RS1
3LM 80-160/15R
3LM 80-160/15 6309-2RS1 6309-2RS1
3LM 80-160/18.5
324

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION 50Hz
Rev. R
BEARINGS 3(.)S-3(.)P
Ball bearing Ball bearing
Purp type Punpside | Fan side Pump type Pump Motor .
Pump side Motorside Pumpside Fanside
3(.)S(2) 32-125/1.1 | 6204-2Z C3| 6204-2Z C3 3()P 32-125/1.1 6204-2Z C3 6204-2Z C3
3(.)S(Z) 32-160/1.5 3(.)P 32-160/1.5 6306-2RS1 6206-2RS1
6205-2Z C3| 6205-2Z C3 620527 C3 6205-2Z C3
3(.)S(2) 32-160/2.2 3(.)P 32-160/2.2
3(.)S(Z) 32-200/3 | 6206-2Z C3 | 6206-2Z C3 3(.)P 32-200/3 6206-2Z C3 6206-2Z C3
3(.)S(Z) 32-200/4 | 6306-2Z C3| 6306-2Z C3 3 p _

(.)S(2) 3(.)P 32-200/4 6308-9RS 1 6306-9RS1 6306-2Z C3 6306-2Z C3
A2 5229095 | Go0s2z | Ga0s2z ca| SR 3220065 620822C3 | 6208-22C3
3(.)S(Z) 32-200/7.5 3(.)P 32-200/7 .5
3(.)S(2) 40-125/1.5 3(.)P 40-125/1 .5

6205-2Z C3| 6205-2Z C3 6205-2Z C3 6205-2Z C3
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2 .2 6306.2RS 1 6206.2RS
3(.)S(Z) 40-160/3 | 6206-2Z C3| 6206-2Z C3 3(.)P 40-160/3 6206-2Z C3 6206-2Z C3
3(.)S(Z) 40-160/4 | 6306-2Z C3 | 6306-2Z C3 3(.)P 40-160/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5 .5

6208-2Z C3| 6208-2Z C3 g
3(.)S(Z) 40-200/7.5 3(.)P 40-200/7 .5 6308-2RS 1 6306-2RS1 6208-22C3 6208-22C3
3(.)S(Z) 40-200/11 | 6309-2Z C3 | 6309-2Z C3 3(.)P 40-200/11 630927 C3 6309-27 C3
3(.)S(Z) 50-125/2.2 | 6205-2Z C3| 6205-2Z C3 3(.)P 50-125/2.2 620527 C3 6205-2Z C3
3(.)S(Z) 50-125/3 | 6206-2Z C3| 6206-2Z C3 3(.)P 50-125/3 6306-2RS 1 6206-2RS1 620627 C3 6206-2Z C3
3(.)S(Z) 50-125/4 | 6306-2Z C3| 6306-2Z C3 3(.)P 50-125/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 50-160/5.5 3(.)P 50-160/5.5
3(.)S(Z) 50-160/7.5 | 6208-2Z C3 | 6208-2Z C3 3(.)P 50-160/7 .5 62082Z C3 6208-2Z C3
3(.)S(Z) 50-200/9.2 3(.)P 50-200/9.2 6308-2RS1 6306-2RS1
3(.)S(Z) 50-200/11 3(.)P 50-200/11

6309-2Z C3| 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(Z) 50-200/15 3(.)P 50-200/15
3(.)S(Z) 65-125/4 | 6306-2Z C3| 6306-2Z C3 3(.)P 65-125/4 6306-2Z C3 6306-2Z C3
3(.)S(Z) 65-125/5.5 3(.)P 65-125/5.5 6306-2RS 1 6206-2RS1
3(.)S(2) 65-125/7.5 3(.)P 65-125/7.5

6208-2Z C3| 6208-2Z C3 62082Z C3 6208-2Z C3
3(.)S(2) 65-160/7.5 3(.)P 65-160/7.5
3(.)S(Z) 65-160/9.2 3(.)P 65-160/9.2
3(.)S(Z) 65-160/11 3(.)P 65-160/11
3(.)S(Z) 65-160/15 3(.)P 65-160/15 6308-2RS 1 6306-2RS1

6309-2Z C3| 6309-2Z C3 6309-2Z C3 6309-2Z C3
3(.)S(Z) 65-200/15 3(.)P 65-200/15
3(.)S(Z) 65-200/18.5 3(.)P 65-200/18.5
3(.)S(Z) 65-200/22 6311C3 | 6311C3 [1) 3(.)P 65-200/22 6311 C3 6311 C3  [1)
3LS 65-250/30 1) 3LP 65-250/30 1)

6312C3 | 6312C3 6310-2RS 1 6308-2RS1 6312 C3 6312 C3
3LS 65-250/37 1) 3LP 65-250/37 1)
3LS 80-160/11 3LP 80-160/11
3LS 80-160/15R 3LP 80-160/15R
- 2RS1C3 | 6306-2RS1 C3 | 6309-2Z C3 6309-2Z C3
3LS 80-160/15 6309-22 C3) 6309-22 &3 3LP 80-160/15 6308-2RS1 C
3LS 80-160/18.5 3LP 80-160/18.5
3LS 80-200/22 6311C3 | 6311C3 |1) 3LP 80-200/22 6311 C3 6311C3  [1)
3LS 80-200/30 1) 3LP 80-200/30 1)
X ] 6312 C3 6312 C3
3LS 80-200/37 6312C3 | 6312C3 |1) 3LP 80-200/37 6310-2RS1 C3 | 6308.2RS1 C3 1)
3LS 80-250/37 1) 3LP 80-250/37 1)
3LS 80-250/45 6313C3 | 6313C3 [1) 3LP 80-250/45 6313 C3 6313C3 1)
3LS 80-250/55 6314C3 | 6314C3 |1) 3LP 80-250/55 6314 C3 6314 C3 1)
1) Motor available with lubrificator for regular re-greasing of bearing.

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION

50Hz

MECHANICAL SEAL (standard, H and E version)

L

L2

¢d3

#d1

#d2

W
$d4
$d5

Version

Pump type

a1

d2

d3

Dimensions

d4 | d5 | L

L1

1
Stationary
seal ring

Material
2 3

Rotary | bber
seal ring

4
Frame +
Spring

Standard

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

38

31| 37 |375

27.5

10

65-160/15
65-200

30

24

46

39 | 45 425

32.5

10

Carbon

Ceramic| NBR

EN 1.4401
(AISI 316)

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

38

31| 37 |375

27.5

10

65-160/15
65-200
65-250
80-160/200

30

24

46

39 | 45 | 425

32.5

10

80-250

35

29

50

44 | 50 [ 425

32.5

10

Carbon

Ceramic| FPM

EN 1.4401
(AlSI 316)

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

38

31| 37 |375

27.5

10

65-160/15
65-200
65-250
80-160/200

30

24

46

39 | 45 425

32.5

10

Carbon

Ceramic | EPDM

EN 1.4401
(AISI 316)

Rev. R

326

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

MECHANICAL SEAL (L version 922)

4 3
:m
T o]

.

37.5
Material
Pump type ! 2 3 4
PP Stationary | Rotary Rubber Frame
seal ring | seal ring ubbe + spring
32-125/160/200
40-125/160/200
50-125/160/200
65-125 sic sic FPM (/Ii:\ls:;ss?i)
65-160/7.5
65-160/9.2
65-160/11
327
g E2ARA EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

MECHANICAL SEAL (L version 230-35)

L1 L2

$d3

®d1

$d2

4444444<‘7444444

|

i

|

|

|

|

|

|

|
4’7

¢d4
pd5

Dimensions Material
Bumo | 1 2 3 4
UMPIYPE 1 41 | a2 | 93 | d4 | d5 | L | L1 | L2 | Stationary| Rotary Rubberl | Frame
seal ring | seal ring + spring
65-160/15
65-200
65950 30 | 24 | 44| 39 | 45 425 31 115 oo sic | FPM (i:\ls:éfe?i)
80-160/200
80-250 35 | 29 | 49 | 44 | 50 |42.5] 31 | 115
328
g E2ARA EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

MECHANICAL SEAL (HS version 222)

S 4 2 1 3

i
N r~
N - - - M
Sy St
!
!
B 28.5 9
B 37.5 -
Material
Pump type ! 2 3 4
Stationary | Rotary Frame
seal ring | seal ring Rubber + spring

32-125/160/200

40-125/160/200

50-125/160/200

65-125 SiC SiC FPM (,E\PS|1341%7T1|)

65-160/7.5

65-160/9.2

65-160/11

329
g E2ARA EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION 50Hz
Rev. R
MECHANICAL SEAL (HS version 230)
42.5
|
|
IR I } 4 3 2 1 3 % o
|
i =
Material
PUMD t 1 2 3 4
ump type Stationary | Rotary Rubber Frame
seal ring | seal ring + spring
65-160/15 : . EN 1.4571
65-200 SIC SIC FPM 1 aisi 316Ti)
330

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION

50Hz

(L1)

L2

MECHANICAL SEAL (HW and HSW version)

Rev. R

$d3

gd1
$d2

o g /L\G\(yj

$d4
#dd

Version

Pump type

d1

d2

d3

Dimensions

d4

d5

L1

L2

1
Stationary
seal ring

Material

2
Rotary
seal ring

3 4

Rubber Frame
+ spring

HW

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

19

38

31

37

37.5

275

10

Tungsten
Carbide

65-160/15
65-200
65-250
80-160/200

30

24

46

39

45

42.5

325

10

80-250

35

29

50

44

50

42.5

32.5

10

Tungsten
Carbide

EN 1.4401

FPM 1 (alsi 316)

HSW

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

19

38

31

37

37.5

275

10

Tungsten
Carbide

65-160/15
65-200
65-250
80-160/200

30

24

46

39

45

425

325

10

80-250

35

29

50

44

50

42.5

32.5

10

SiC

EN 1.4401

FPM 1 (st 316)

331

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

CONSTRUCTION 50Hz
Rev. R
MECHANICAL SEAL (ES version)
42.5
32.5 10
o 7NN\
]
\ 4 5 2 1 4
Te) [®)) B B B _ _ <+ (@]
N ™ <+ (@]
! OO0 O o m »
U kL ﬁ
L7
Material
Pump type ! 2 3 4
Stationary | Rotary R Frame +
. . ubber .
seal ring | seal ring Spring
80-250 Carbon SiC EPDM 52181':‘112)1

332

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz
Rev. R
COUPLING
L
Set screw UNI EN ISO 4029
_ o © } I| m m
| L1 |
< = wej*4 H———— 9=
Pump type Power Motor Dimensions mm
kW] | (HP] | Size | d | d1 | d2 | d3 M L] b h | Setscrew

32-125/1.1 1.1 15 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 209 | 114 12 45.3 M8x8
65-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-125/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-160/11 11 15 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 | 144 18 64.4 M12x12

333

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

FLEXIBLE COUPLING

3 £

\
S| 1 —1 %
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE

Pump type Power Motor Dimensions mm

[KW] | [HP] Size d1 b1 h1 d2 b2 h2
32-125/1.1 1.1 1.5 80 24 27.3 19 6 21.8
32-160/1.5 1.5 2 90 24 27.3 24 8 27.3
32-160/2.2 2.2 3 90 24 27.3 24 8 27.3
32-200/3.0 3 4 100 24 27.3 28 8 31.3
32-200/4.0 4 5.5 112 24 27.3 28 8 31.3
32-200/5.5 5.5 7.5 132 24 27.3 38 10 41.3
32-200/7.5 7.5 10 132 24 27.3 38 10 41.3
40-125/1.5 1.5 2 90 24 27.3 24 8 27.3
40-125/2.2 2.2 3 90 24 27.3 24 8 27.3
40-160/3.0 3 4 100 24 27.3 28 8 31.3
40-160/4.0 4 5.5 112 24 27.3 28 8 31.3
40-200/5.5 5.5 7.5 132 24 27.3 38 10 41.3
40-200/7.5 7.5 10 132 24 27.3 38 10 41.3
40-200/11 11 15 160 24 27.3 42 12 45.3
50-125/2.2 2.2 3 90 24 27.3 24 8 27.3
50-125/3.0 3 4 100 24 27.3 28 8 31.3
50-125/4.0 4 5.5 112 24 27.3 28 8 31.3

50-160/5.5 5.5 7.5 132 24
50-160/7.5 7.5 10 132 24
50-200/9.2 9.2 12.5 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

50-200/11 11 15 160 24 27.3 42 12 45.3
50-200/15 15 20 160 24 27.3 42 12 45.3
65-125/4.0 4 5.5 112 24 27.3 28 8 313

65-125/5.5 5.5 7.5 132 24
65-125/7.5 7.5 10 132 24
65-160/7.5 7.5 10 132 24
65-160/9.2 9.2 12.5 132 24

27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3
27.3 38 10 41.3

Q0|00 |00 |00 |00 |Co|0o|00|Co 00|00 00|00 |00|Co| 00|00 |00 |00 (00|00 00 |00|00|00| 00|00 Co(C0|00|Co(0

65-160/11 1" 15 160 24 27.3 42 12 45.3
65-160/15 15 20 160 24 27.3 42 12 45.3
65-200/15 15 20 160 24 27.3 42 12 45.3
65-200/18.5 18.5 25 160 24 273 42 12 45.3
65-200/22 22 30 180 24 27.3 48 14 51.8
65-250/30 30 40 200 32 10 35.3 55 16 59.3
65-250/37 37 50 200 32 10 35.3 55 16 59.3
80-160/11 11 15 160 24 8 27.3 42 12 45.3
80-160/15R 15 20 160 24 8 27.3 42 12 45.3
80-160/15 15 20 160 24 8 27.3 42 12 45.3
80-160/18.5 18.5 25 160 24 8 27.3 42 12 45.3
80-200/22 22 30 180 32 10 35.3 48 14 51.8
80-200/30 30 40 200 32 10 35.3 55 16 59.3
80-200/37 37 50 200 32 10 35.3 55 16 59.3
80-250/37 37 50 200 32 10 35.3 55 16 59.3
80-250/45 45 60 225 32 10 35.3 55 16 59.3
80-250/55 55 75 250 32 10 35.3 60 18 64.4

334

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

FITTINGS
COUNTERFLANGE ZINCKED STEEL

SN N° Holes ¢18

Counterflange Screw

DN D E F H H1 L M SN DIMENSIONS MATERIAL

32 | G11/4] 100 140 15 11.5 67 50 4

40 | G11/2] 110 150 175 | 115 72 58 4 V1655

50 | G2 | 125 | 165 | 19 | 15 | 89 | 70 4 X Gv. Steel 8.8
strenght class

65 | G21/2| 145 185 23 14 104 88 4 1SO 898-1

80 G3 160 200 24 16 117.5 | 100 8 M16x60

100 G4 180 220 29 16 144 125 8

COUNTERFLANGE EN 1.4404 (AISI 316L)

E
D

SN_N* Holes o018 ‘ |
T

I
y |
L
F
Counterflange Screw
DN D E F H H1 L M SN DIMENSIONS MATERIAL

32 | G11/4| 100 140 29.5 14 66 44
40 | G11/2] 110 150 29.5 14 71 50.5

50 | G2 | 125 | 165 | 34 16 83 63 4 M16x55 A2-70 class
ISO 3506-1

65 | G21/2 | 145 | 185 | 40 16 | 103 | 80

80 | G3 160 | 200 | 42 18 | 122 | 92 8 M16x60

335

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

CONSTRUCTION 50Hz

Rev. R

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

o ™

SN N° Holes 218
NI
|

=

- - H4——>H

Counterflange Screw
DN D E F H H1 L SN [DIMENSIONS | MATERIAL

A2-70 class

100 | G4 | 180 | 220 | 35 | 20 | 150 8 M16x70 |50 3506-1

GASKET

DN M M1

32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
100 115 160

Thickness 2
Material : EPDM for standard version
FPM for L version
336
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. R
PUMP 3(.)M 32, 40, 50, 65-125/160
B
D2
P2
DN2 Vi A
o
%] V2 7-918
j /—-918
£
o~
H 7o) B
H o
Y |
— - = H T
ol ol a [ H T
] l @
{E—-é T
Sl
Fig. 1 | it
R C
W N1
S1 M o|% N2
©|=
: ’ ; 4-918 /@( S
Fig. 2 s ok
25
Dimensions (mm) Weight
Model o|o|o|e z |o|o|lol|e H3 B . c Vi v2 kf] .
3
ont| Pt | ki | o1 | st|p| 2] one| P2 | ke | o2 | s2|Fi. | 1|kt | He [ ) R [w] e A (el ] e | BT e | e | e 4] e e
32-12511 (M)| 50 | 95 | 125| 165| 16| 4 | - | 32 | 75 | 100] 140| 14| 1 |252| 112] 140] 124 | 141] 80 | 70| 114| 140] 190| 213| 408] 407 | - |219+230]219-230] - |PG 13.5|M20x15]| 19,6 | 24.1| -
32-160/1.5 (M) | 50 | 95 | 125[165| 16| 4 | - | 32 | 75 [100| 140| 14| 1 | 292[ 132|160 124 | 141| 80 | 70| 118| 190| 240| 254 | 408[ 407 - |219+230|219-230] - |PG13.5|M20x15|225| 27 | -
32-160/2.2 (M) | 50 | 95 | 125|165| 16| 4 | - | 32 | 75 [100| 140| 14| 1 | 292|132| 160|124 | 141| 80 | 70| 118] 190| 240| 254 | 408|432| - [219+230|244+255] - |PG13.5|M20x1.5|27,7| 28 | -
32-200/3.0 50 | 95| 125]165| 16| 4 | - | 32 | 75 [100| 140| 14| 1 |340|160|180|124| - | 80 |70[119]190| 240|296 - [471| - o 244255 - [PG135| - HEX R
32-200/4.0 50 | 95| 125|165| 16| 4 | - | 32 | 75 [100| 140| 14| 1 | 340|160| 180| 141| - | 80 | 70| 119] 190| 240| 296| - [494| - B 253 - [Pe16| - - [s82] -
32-200/5.5 50 | 95| 125|165| 16| 4 | - | 32 | 75 [100| 140| 14| 1 |340|160|180|150| - | 80 |70[119]190| 240|296 - |519| - B 275 |PG135| PG16 | - - [s22| -
32-2007.5 50 | 95| 125]165| 16| 4 | - | 32 | 75 [100| 140| 14| 1 |340[160| 180|150 - | 80 |70[119]190| 240|296 - |519| 539 | - 275 |PG135| PG16 | - [ - [e01
40-125/1.5 (M) | 65 | 115| 145| 185| 16| 4 | - | 40 | 80 | 110] 150| 14| 1 |252| 112] 140| 124 | 141] 80 | 70| 114| 160| 210| 213| 408|407 | - |219+230|219+230] - |PG 13.5|M20x15]| 20,1 | 24,6] -
40-125/2.2 (M) | 65 | 115| 145| 185| 16| 4 | - | 40 | 80 | 110] 150| 14| 1 |252| 112] 140|124 | 141| 80 | 70| 114| 160| 210| 213| 408|432 | - |219+230|244+255] - |PG13.5|M20x15| 258 261| -
40-160/3.0 65 | 115 145]185| 16| 4 | - | 40 | 80 [110|150| 14| 1 |292[132|160|124| - | 80 |70[118|190| 240|254 - [471| - o |244:255| - |PG135| - - [266] -
40-160/4.0 65 | 115| 145]185| 16| 4 | - | 40 | 80 [ 110| 150| 14| 1 | 292[132|160|141| - | 80 [70[118]190| 240|254 - |494 - 253 - |[Pe1e| - - |a08]| -
40-200/5.5 65 | 115 145|185| 16| 4 | - | 40 | 80 [110|150| 14| 2 |340[160| 180|150 - |100|70[115|212|265| 296 - [539| - B 275 |PG135| PG16 | - - [s25| -
40-200/7.5 65 | 15| 145|185| 16| 4 | - | 40 | 80 [110|150| 14| 2 |340[160| 180|150 | - |100|70[115|212|265]296| - |539| 559 | - 275 |PG135| PG16 | - BEEE
40-200/11 65 | 115| 145]185| 16| 4 | - | 40 | 80 [110| 150| 14| 2 | 340|160| 180| 178| - | 100|70[115|212| 265]296| - |595| 595| - 359 |PG135| PG21 | - |- |e9s
50-125/2.2 (M) | 65 | 115| 145 185| 16] 4 | - | 50 | 95 | 125] 165] 16| 2 | 292] 132] 160| 124 | 141] 100| 70| 114] 190] 240| 254 | 428| 452| - |219+230|244+255| - |PG 13.5|M20x15]29.4| 32 | -
50-125/3.0 65 | 15| 145]185| 16| 4 | - | 50 | 95 [125|165| 16| 2 |292|132|160|124| - |100|70|114|190| 240|254 - [491| - = |244:255] - |PG135| - - [309] -
50-125/4.0 65 | 15| 145|185| 16| 4 | - | 50 | 95 [125|165| 16| 2 | 292|132| 160| 141| - | 100|70[ 114| 190| 240| 254| - [514] - B 253 - [rete| - - [a09] -
50-160/5.5 65 | 115 145|185| 16| 4 | - | 50 | 95 [125|165| 16| 2 | 340|160| 180|150 | - |100|70|115|212| 265|296 - |539| - B 275 |PG135| PG16 | - - Ja65]| -
50-160/7.5 65 | 15| 145]185| 16| 4 | - | 50 | 95 [125|165| 16| 2 | 340|160| 180|150 | - |100|70[115|212| 265|296 - |539| 559 | - 275 |PG135| PG16 | - HEED
50-200/9.2 65 | 15| 145]185| 16| 4 | - | 50 | 95 [125|165| 16| 2 | 360 160|200|178| - |100|70[115|212|265]296] - |595| 595| - 359 |PG135| PG21 | - - [ - Jess
50-200/11 65 | 115 145|185| 16| 4 | - | 50 | 95 |125|165| 16| 2 | 360 160| 200| 178| - | 100|70|115|212| 265|296 - |595| 595| - 359 |PG135| PG21 | - - [ - Je9s
65-125/4 80 | 134] 160]200| 18] 8 | 4 | 65 | 15| 145| 185| 16| 2 | 340| 160] 180| 141| - | 100| 95| 140| 212| 280| 254| - |514] - B 253 [ Pe16| - HEAE
65-125/5,5 80 | 134 160]200| 18| 8 | 4 | 65 | 115|145|185| 16| 2 | 340|160| 180|150 | - |100|95|140|212|280|254| - |539| - - 275 |PG135| PG16 | - - Tas7] -
65-125/7,5 80 | 134| 160|200| 18| 8 | 4 | 65 | 115|145|185| 16| 2 | 340|160| 180|150 | - |100|95|140|212| 280|254 - |539| 559 | - 275 |PG135| PG16 | - - | - Is21
65-160/7,5 80 | 134 160]200( 18| 8 | 4 | 65 | 115|145|185| 16| 2 | 360 160| 200|150 | - |100|95]140|212|280]296] - |539| 569 | - 275 |PG135| PG16 | - R
65-160/9,2 80 | 134 160]200| 18| 8 | 4 | 65 | 115|145|185| 16| 2 | 360 160|200|178| - |100|95|140|212|280]296| - |595| 595| - 359 |PG135| PG21 | - - et
65-160/11 80 | 134 160]200[ 18| 8 | 4 | 65 |115|145|185| 16| 2 | 360|160|200| 178| - |100|95]140|212|280] 296 - |595| 595| - 359 |PG135| PG21 | - S fera

(*) Only for IE3 Motors

[1] Standard

[2] On request

[1~] Only for single phase

[3~] Only for three phase

400

E2ARA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R
PUMP 3(.)M 50-200, 65-160/15, 65-200
B
D2
P2
DN2 PG21 296
©
| ([
—— L Z -|#18
| \ 2 o
— A s
- = = 1720\ I / -
o ala 7 LT /
| -
! _ — 2 o ; -
r __ ——— - pm
st * Fig. 1 mj p/%\%%
i il ; ;
100 499.5 20 & .U 4 — #15
25 W 2 _ 415 N1 |
M N2
" N
- A\
L4
l ool
| 1
|_Fg2 | ||| [/
Il Il 3_1 L
c 254 25 &
D M o +—
4915 A —
L4
I [
Dimensions [mm] .
mdel | o |o|o|e z |olololo Weignt
i kgf
ont | Pt |kt | o1l st | on | one | e | e | e Fig.| H | H1[H2| W | M|N|[N2| B | C |L1|L2|L3|L4]| [kef]

50-200/15 65 [115]|145|185| 16 | 4 - 50 | 95 [125]|165| 2 |360|160|200| 70 | 115|212|265|723|190.5| 254| 318| 65 | 304| 105,1
65-160/15 80 [134]160|200f 18 | 8 4 65 | 115145185 2 |360|160|200| 95 | 140|212|280|732|199.5| 254| 318| 65 |304| 107,1
65-200/15 80 |134(160|200| 18 | 8 4 65 [115| 145|185 1 [405|180|225| 95| 140|250|320(732| - |254|314| 60 |345| 110,1
65-200/18.5| 80 |134|160(200| 18 | 8 4 65 | 115145 185| 1 |405|180|225| 95 | 140|250|320(732| - |254|314| 60 |345| 125,3
65-200/22 80 [134]160|200f 18 | 8 4 65 | 115(145]|185| 1 |405|180(225| 95 | 140|250|320|732| - 254|314| 60 | 345( 136,1
[1] Standard [2] On request

401

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. R
PUMP 3LMZ 32, 40, 50-125/160/200/9.2/11, 65-125/160/7.5/9.2/11
B
D2
P2 A
)
] o~
T
=Y P -
) T
St
Dimensions (mm) Weight
Model g|lo| o| o | 0| 2| @ [kgf]
DN1| P1 | K1 [ D1 |S1| Z|DN2| P2 | K2 | D2|S2| H|HI |[H2|H | R|M [M| S |[N]| A ™| c V1 V2 *
32-12511.1 | 50 | 95 | 125|165 16| 4 | 32 | 75 | 100 | 140 | 14 | 252] 112 140| 124 | 80 [ 32,5 212| 6 |[190| 213 | 407] - - - PG 13.5| 24,1 -
32-160/1.5 | 50 | 95 | 125|165 16| 4 | 32 | 75 | 100 | 140 [ 14 | 292 | 132| 160 | 124 | 80 | 42 | 200| 6 | 210|254 | 407 | - - - PG135| 27 -
32-160/22 | 50 | 95 | 125|165 16| 4 | 32 | 75 | 100 | 140 [ 14 | 292 | 132| 160 | 124 | 80 | 42 | 200| 6 |[210| 254 | 432] - - - PG135| 28 -
32-200/3.0 | 50 | 95 | 125|165 16| 4 | 32 | 75 | 100 | 140 [ 14 | 340 | 160 | 180 | 124 | 80 | 39 | 205| 8 | 220|296 | 471 - - - PG 13.5| 35,1 -
32-200/4.0 | 50 | 95 | 125/ 165[ 16| 4 | 32 | 75 [ 100 | 14014 | 340| 160 | 180 | 141| 80| 39 [ 205| 8 |220| 296 | 494 | - - - PG16 | 38,2 -
32-200/5.5 | 50 | 95 | 125|165| 16| 4 | 32 | 75 [ 100 | 140 |14 | 340| 160 | 180 | 150 | 80 | 39 | 205| 8 | 220|296 | 519 - - |PG135| PG16 | 52,2 -
32-200/7.5 | 50 | 95 | 125|165 16| 4 | 32 | 75 | 100 | 140 |14 | 340] 160 | 180| 150 | 80 | 39 | 205| 8 | 220 296 | 519 539 | 275 | PG 13.5| PG 16 - 60,1
40-125/15 | 65 | 115] 145[ 185 16] 4 | 40 | 80 [ 110[ 150 [ 14| 252 112 140| 124 | 80 [32,5] 212 6 [190] 213] 407] - - - PG 13.5| 24,6 -
40-125/2.2 | 65 | 115| 145 | 185| 16| 4 | 40 | 80 | 110 | 150 | 14| 252 | 112 | 140 | 124 | 80 |32,5| 212| 6 | 190|213 | 432| - - - PG 13.5| 26,1 -
40-160/3.0 | 65 | 115| 145|185} 16| 4 | 40 | 80 | 110 | 150 | 14| 292 | 132 | 160 | 124 | 80| 42 [ 200| 6 |210] 254 | 471| - - - PG 13.5| 26,6 -
40-160/4.0 | 65 | 115| 145|185} 16| 4 | 40 | 80 | 110 | 150 | 14| 292 | 132 | 160 | 141 | 80 | 42 [ 200| 6 |210] 254 | 494| - - - PG 16 | 40,8 -
40-200/5.5 | 65 | 115| 145|185} 16| 4 | 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 150 | 100| 39 | 205| 8 |220] 296 | 539| - - |PG135| PG16 | 52,5 -
40-200/7.5 | 65 | 115| 145 | 185| 16| 4 | 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 150 | 100| 39 | 205| 8 | 220|296 | 539 | 559 | 275 | PG 13.5| PG 16 - 59.3
40-200/11 | 65 | 115| 145|185 16| 4 | 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 178 |100| 39 [205| 8 |220|296|595| - | 359 |PG13.5| PG21 - 69,6
50-125/2.2 | 65 | 115[ 145|185 16| 4 | 50 | 95 [ 125] 165] 16 292] 132 ] 160 | 124 | 100] 42 [200] 6 [210] 254 | 452 - - B PG135] 32 -
50-125/3.0 | 65 | 115| 145| 185|116 | 4 | 50 | 95 | 125|165 |16 | 292| 132 | 160 | 124 | 100| 42 [ 200| 6 | 210|254 | 491| - - - PG 13.5| 30,9 -
50-125/4.0 | 65 | 115| 145| 185| 16| 4 | 50 | 95 | 125|165 | 16 | 292| 132 | 160 | 141 | 100| 42 [ 200| 6 | 210|254 | 514 - - - PG 16 | 40,9 -
50-160/5.5 | 65 | 115] 145| 185| 16| 4 | 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 150 | 100| 39 | 205| 8 | 220|296 | 539 - - |PG135| PG16 | 46,5 -
50-160/7.5 | 65 | 115] 145| 18516 | 4 | 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 150 | 100| 39 | 205| 8 | 220|296 | 539 | 559 | 275 | PG 13.5| PG 16 - 58.6
50-200/9.2 | 65 | 115] 145| 185| 16| 4 | 50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 178 | 100| 39 | 205| 8 | 220|296 | 595| - | 359 | PG13.5| PG 21 - 63,9
50-200/111 | 65 | 115] 145|185 16| 4 | 50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 178 | 100| 39 | 205| 8 | 220|296 | 595| - | 359 | PG13.5| PG 21 - 69,6
65-125/4 80 | 134|160 200] 18| 8 | 65 | 115] 145] 185] 16 | 340 | 160 | 180 | 141 |100| 42 [ 200] 6 |210] 254 | 514 | - - - PG16 | 37,7 -
65-125/5,5 | 80 | 134 | 160 | 200 | 18| 8 | 65 | 115| 145 | 185 | 16 | 340 | 160 | 180 | 150 [ 100| 42 | 200| 6 |210| 254|539 - - |PG135| PG16 [ 487 -
65-125/7,5 | 80 | 134|160 | 200| 18| 8 | 65 | 115| 145 | 185 | 16 | 340 | 160 | 180 | 150 | 100| 42 | 200| 6 | 210 254 | 539 | 559 | 275 | PG 13.5| PG 16 - 52.1
65-160/7,5 | 80 | 134|160 | 200| 18| 8 | 65 | 115| 145 | 185 | 16 | 360 | 160 | 200 | 150 | 100| 39 | 205| 8 | 220|296 | 539 | 559 | 275 | PG 13.5| PG 16 - 55.3
65-160/9,2 | 80 | 134 | 160 | 200 | 18| 8 | 65 | 115| 145 | 185| 16 | 360 | 160 | 200 | 178 | 100| 39 | 205| 8 | 220|296 | 595| - | 359 |PG13.5| PG21 - 61
65-160/11 | 80 | 134 | 160 | 200 | 18| 8 | 65 | 115| 145 | 185| 16 | 360 | 160 | 200 | 178 | 100| 39 | 205| 8 | 220|296 | 595| - | 359 |PG13.5| PG21 - 67,4

(*) Only for IE3 Motors

E2ARA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PUMP 3LMZ 50-200/15, 65-160/15, 65-200

g g
3
— M M x
o L —
A=Y
S 1 3 -
— | — *:\ g
on
[
s1
100 151.5 350 16 S 318
4+— 014
Lo 3 ]
382
f - &5
z
Il Fe2 || |
i e
254 25 S
4 - ot4
& 3 Nl
304
n -
Dimensions [mm]
Model | g |o|o]|o o |lo|lo]|o Weight
- kgt
ot | Pt ki | D1 s1|z | one|pe|Ke|o2|F9| H[H|F2[B | C | Lkl
50-200/15 | 65 | 115]145|185] 16 | 4 | 50 | 95 |125]165| 2 |360| 160]200| 723| 190.5| 1051
65-160/15 | 80 | 134|160]200| 18 | 8 | 65 |115|145| 185| 2 | 360 160| 200| 732| 199.5| 1071
65-200/15 | 80 |134]160|200| 18 | & | 65 |115|145|185| 1 |405|180]225]732| - | 110.1
65-200/185| 80 |134]160|200| 18 | 8 | 65 |115|145|185| 1 |405|180|225]732| - | 1253
65200122 | 80 |134]160|200| 18 | 8 | 65 |115|145|185| 1 |405|180|225]732| - | 1361

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS 3 SERIES

DIMENSIONS AND WEIGHT 50Hz

¢ 225

Rev. R

PUMP 3LM 80-160/11

¢ 155
|
)

Weight: 100 kgf

9 200
9 135 147 173
DN8Q PG13.5
PG21
i )
\
‘ 1/ 1/l
g 3 _
N
i 16— (@]
] Il 1| D
8 | E g 5
= AR - = ©) o —
= ASS
5 ‘ B
| QO
©
250
320

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. R
PUMP 3LM 80-160/15R/15/18.5
9 200
¢ 135 147 173
PG21
DN8O 8-418 2-G3/8
o PG21 —
D ! | /
0 A s
888 I n = || 8 1 $
s s B | he [ 9180
R NERE— 3
o 2
. | 1
24 |
o
95 N 4-915 65
|
125 250
125 499.5 20 320
757
345
8 ° S
2-¢15 < <
- N °
Weight:
80-160/15R :  130.1 kgf
80-160/15:  131.1 kgf
80-160/18.5 : 145.3 kgf
405

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@P)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PUMP 3(.)S 32, 40, 50

B
D2
P2
DN2 A
> 4-918
]
= M nz?
Y =
H{ B e
_ || .
ol o B el — — I
00000
e \ |
_é |
Fig. 1 — 5
|
R | c 15
70 : 2-910
16 M i
Pl
() 0]
= I«
Fig. 2 -
g N
25
Dimensions [mm] Weight
X
Model o2 e el el s2|Fg| H|Ht|H2Hs| R | M| NT[N2|A|B|C| Vi V2 [gf](*)

32-125/1.1 | 50 | 95 | 125 | 165| 32 | 75 | 100 | 140| 14
32-160/1.5| 50 | 95 | 125| 165| 32 | 75 | 100 | 140| 14
32-160/2.2 | 50 | 95 | 125|165| 32 | 75 | 100 | 140| 14
40-125/15| 65 | 115|145 | 185| 40 | 80 | 110 | 150| 14
40-125/2.2 | 65 | 115|145 | 185| 40 | 80 | 110 | 150| 14
50-125/2.2 | 65 | 115|145 | 185| 50 | 95 | 125 | 165| 16

252 (112|140 | 139| 80 | 114|140 | 190|213 | 430| 174 | M25x1.5| M20x1.5 | 23.1 247
292 (132|160 | 148 | 80 | 118|190 | 240| 254 | 477 | 186 | M25x1.5 | M20x1.5 | 29.8 29.8
292 (132|160 | 148 | 80 | 118|190 | 240| 254 | 477 | 186 | M25x1.5| M20x1.5 | 32.4 32.4
252 112|140 | 148| 80 | 114|160 | 210|213 | 477| 186 | M25x1.5| M20x1.5 | 26.5 26.5
252 (112|140 | 148 | 80 | 114|160 | 210| 213 | 477 | 186 | M25x1.5| M20x1.5 | 29.6 29.6
292 (132|160 | 148 | 100 | 114 | 190 | 240| 254 | 497 | 186 | M25x1.5 | M20x1.5 | 32.9 32.9

N2 al=a]=2]=

(*) Only for IE3 Motors

406

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. R
PUMP 3(.)S 32, 65
B
D2
P2
B M25x1.5 A
DNZ 7-918
o~ ‘ ‘ M20x1.5
[%2] /7
- S Z-918
e - O] D
| ] o~
-~ - f E '\
— = —_— ; T
o oo % ) J )
W & /
i T
Fig. 1 ‘ ‘
T T
R ‘ 140 22.5 ‘ ‘ 4-915
N1
S1 N2
| 1 B 4-911
| L]
) : Lo o
Fig. 2 ey |
- ~
”s W ‘ 185 o o
I Il
M Tl ]
Dimensions [mm] Weight
Model | o | 0| 0| o z |o|o|o]|e . [kaf]
ont| Pt | Kt | D1 | st| (]| onz| P2 | K2 | D2 | s2|Fe| H H1 [H2 |H3| R | W | M |NI|N2| A|[B|C|Ll|L2]L3 o
32-200/3.0 | 50 | 95 |125|165| 16| 4 | - | 32 | 75 | 100|140| 14 | 1 |340|160|180|155| 80 | 70 | 119|190 | 240 | 296 | 528 | 205 | 160 | 202 | 42 | 46.9 46.9
32-200/4.0 | 50 | 95 |125|165| 16| 4 | - | 32 | 75 | 100 | 140 | 14 340 | 160 | 180|171 | 80 | 70 | 119|190 | 240 | 296 | 550 | 212|190 | 228 | 38 | 49 49
65-125/4.0 | 80 | 134|160(200| 18| 8 | 4 | 65 | 115|145|185| 16 | 2 | 340|160 |180| 171|100 | 95 | 140|212 | 280 | 254 | 570|212 | 190 [ 228 | 38 | 50.1 50.1
[1] Standard  [2] On request  (*) Only for IE3 Motors

407

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



D2
P2 A
il V2
i niN
| e =
- @8]
‘7 1
e |8 z
‘ 100000000 —
E-1EB10000000
= il | [iboaonog ——
] (I -{{ecocennn !
10000000 ——
E-rEM0000000 [
‘ 100000000 —— S
<
i 4 ain on T z-#18
Fig. 1 115 W ‘ ‘ ]
R C ‘ F ‘
W [—
St M k] ’ 4%:: |
! & ‘ ° har{

|uoaupdwod@opul ¢ 2/GH-762(0) LE+ 4 ZL2.G7-762(0) LE+ L

,@ " ™~
| I Fig. 3 ' o
2 TIT TIT
w ‘ i 1
‘ 329 241 ‘ 24.5
25 95
140
R
4-9¢14
\ 300 ol @
! ! o~ ™
Ml I
i It
Dimensions [mm] Weight
Model 2|20 |0 z o |0|0|O0 . [ kgf]
Fig/ H|H1|H2|H3| H4| R|W | M|N1IN2|A|B|C|F|[G|Q|LI|L2|L3 V1 V2
DN1| P1 | K1 [ D1|S1 [[1]|[2]|DN2| P2 | K2 | D2 | S2 *)
32-200/5.5 [ 50 [ 95 [125[165] 16 - [ 32 [75]1007140] 14 340[160[180[198] 28 [ 80 | 70 [119[190]240[300]607[479] 15 [270] 12 [216]266 50 [M32x1.5[M32x1.5] 71.8 [71.8
32-200/7.5 | 50 | 95 |125]/165] 16 - 132 | 75]100/140] 14 3401160180198 | 28 | 80 | 70 [119]190{240300(607 |479| 15 1270] 12 |216/266 | 50 |M32x1.5|M32x1.5] - 87

40-160/3.0 | 65 [115[145]/185] 16 - 140 | 80 [110[150] 14 292[132[160]155] 32 | 80 | 70 [118]190[240254 (528|388 15 [220]| 12 [160/200| 40 |[M25x1.5|M20x1.5] 42.5 | 425

40-160/4.0 | 65 [115]145]/185]| 16 - 140 | 80 |110[150| 14 2921132]160{171] 20 | 80 | 70 |118|190 /240|254 (550|395 15 |220| 12 |190|240| 50 |M25x1.5| M20x1.5| 44.6 | 44.6

40-200/5.5 | 65 [115[145]185] 16 - |1 40 | 80 [110[150] 14 340]160[180[198] 28 [100| 70 |115/212]265]300 627 |479| 15 [270] 12 [216266| 50 |[M32x1.5|M32x1.5[ 72.2 | 72.2

40-200/7.5 | 65 [115]145|185| 16 - |40 | 80 |[110[150| 14 340/160[180[198| 28 |100| 70 {115/212|265|300|627 |479| 15 |270| 12 [216266| 50 |M32x1.5|M32x1.5 - 82

50-125/3.0 | 65 |115]145[185] 16 - | 50 | 95 [125[165] 16 292[132[160]155] 32 |100| 70 [114]190 240|254 (548|388 | 15 [220]| 12 |160|200| 40 |M25x1.5|M20x1.5| 35.5 | 35.5

50-125/4.0 | 65 |115]|145[185| 16 50 | 95 |125[165] 16 2921132160 {171] 20 |100| 70 |114|190 /240|254 (570|395 15 [220| 12 |190|240| 50 |M25x1.5| M20x1.5| 45.6 | 45.6

50-160/5.5 | 65 |115]145[185] 16 - | 50 | 95 [125]165] 16 340160[180[198| 28 |100| 70 |115/212]265]300|627 |479| 15 |270] 12 [216|266| 50 |M32x1.5|M32x1.5[ 63.8 | 63.8

0| Co| 00| 00| | | O B BB BB AI SIS
QIR NN NI N RO NI NI N NN NN = | = = =

50-160/7.5 | 65 |115|145[185| 16 50 | 95 |125[165] 16 340160/180/198| 28 1100 70 |115/212]265]300|627 |479| 15 |270| 12 [216266| 50 |M32x1.5|M32x1.5 - 91
50-200/9.2 | 65 [115]|145]185] 16 - | 50 | 95 [125[165] 16 360]160[200[198] 28 [100| 70 [115/212]265[300|667 |479| 15 [270] 12 [216]266| 50 |M32x1.5|M32x1.5 - 90.7
65-125/5.5 | 80 |134[160[200| 18 4165 [115[145[185] 16 340]160[180[198| 28 [100| 95 [140212]280|300 627 [479| 15 [270] 12 [216]266| 50 |M32x1.5|M32x1.5[ 60 60
65-125/7.5 | 80 |134|160/200| 18 4|65 |115|145[185] 16 340/160[180/198| 28 |100| 95 |140/212280|300|627 |479| 15 |270| 12 [216266| 50 |M32x1.5| M32x1.5 - 79.4
65-160/7.5 | 80 [134160200| 18 4165 [115]145[185] 16 360]160[200[198] 28 [100| 95 [140/212280[300 627 [479| 15 [270] 12 [216266| 50 |M32x1.5|M32x1.5 - 82.4
65-160/9.2 | 80 |134160/200| 18 4165 |115|145|185] 16 360160/200/198| 28 1100 95 |140/212280{300|667 |479| 15 |270| 12 [216]266| 50 |M32x1.5| M32x1.5 - 88
65-200/15 | 80 [134][160[200| 18 4|65 [115]145[185] 16 405[180[225[238] 20 |[100| 95 [140|250320350{806 621 20 [350| 14 |254|314| 60 | M40x1.5/ M40x1.5 - 138
65-200/18.5| 80 |134|160(200| 18 4165 |115[145|185| 16 405[180|225{238| 20 |100| 95 | 140|250 320|350 (850|621 20 [350| 14 |254|314| 60 | M40x1.5| M40x1.5 - 137.2
65-200/22 80 |134]/160(200| 18 4165 |115]145|185] 16 405/180/225{268| - |100] - - 1250]320/350885| - - - -1 -1- - |M32x1.5/M32x1.5 - 175

80V

'v'd's 3dodN3 sdnd WY Vgl

(*) Only for IE3 Motors ~ [1] Standard ~ [2] On request

SdINNd TvON4dId1N3D

1HOIIM ANV SNOISN3NIA
LD« dNOd

69 ‘0S ‘o¥ ‘ze s(’)e dNNd

Y Aoy
ZH0S

S3l43dS €



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PUMP 3(.)S 40, 50, 65

P2 M40x1.5

350

S2
il
=z
N

(OX©]

H3
H2

DN1 | "
/

© —
= =
l l Z-918
an an
Iin. H i =
il i Ll = (i <
s T T
100 4-619 70
w 240
25 720 25 310
F
4-918

\a'.@'\

Dimensions [mm]
Weight
Pumptype | @ | @ | @ | @ z o |o|lo|o [kgf ]

DN1 [ P1 | K1 |{D1|S1]|[1]|[2]|DN2|P2|K2|D2|S2
40-200/11 | 65 |115|145[185| 16 - 40 | 80 |110|150| 14 |382(160|180|238| 110 | 796 | 831 | 117.8
50-200/11 | 65 |115]|145|185| 16 - 50 | 95 |125|165| 16 [402|160(200|238| 110 | 796 | 831 [ 117.8
50-200/15 | 65 |115]|145|185| 16 50 | 95 |125(165| 16 [402|160(200|238| 110 | 796 | 831 [ 147.9
65-160/11 | 80 |134]160|200| 18 4 | 65 |115]/145|185| 16 | 402|160| 200|238 (122.5| 796 | 844 | 86.8
65-160/15 | 80 |134]160|200| 18 4 | 65 |115|145|185| 16 | 402|160 200|238 |122.5| 806 | 854 | 120.9

|| M AN
'

[1] Standard [2] On request

409

5 E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R
PUMP 3LSZ 32-125/160, 32-200/3/4, 50-125/2.2, 65-125/4
B
D2
P2
M25x1.5 A
DNZ 7-918
o M20x1.5
w
)
4
- ui ]
Llip oo D
|
H \—1 1 N
. H M
= 7} H e T
) | || [ —— @’2/ &
= - = nAnARA / | T
o ol o Uuuuuy 1 J
A | {Laooooo —
| H-{Bonooo| | | | )
i 8
A —/ FE 1 =
: i3 P I P =
F Ll ¥ ¥ [T} 7 3
(SR w w he=——n
N } T T T T i
R 19 ‘
|
C D E
t t
M1 M2
) | 4-0F
F———
———~
NIE=} o~
—
‘ ‘ G |
D ‘ ‘
S s —
Dimensions [mm] Weight
Model a %] [%] (%] [%] [%] a a %) [kof]
H | H1|H2 | H3| R A B C D E G| L1]L2| M1 |M2| N2
DN1| P1 K1 | D1 |S1| Z |DN2| P2 | K2 | D2 | S2 F *)
32-125/1.1 50 | 95 | 125 | 165 | 16 | 4 32 75 | 100 | 140 | 14 | 252| 112|140 | 139 | 80 | 213 | 430 | 168 | 100| 15 9 |130|205|225| 32,5 117|190 23.1 247
32-160/1.5 | 50 95 | 125 | 165 | 16 | 4 32 75 | 100 | 140 | 14 | 292| 132|160 | 148 | 80 | 254 | 477 | 186|125 | 25 9 |170|210|230| 42 | 105|210 29.8 29.8
32-160/2.2 | 50 | 95 | 125 | 165 | 16 | 4 32 75 | 100 | 140 | 14 | 292| 132|160 | 148 | 80 | 254 | 477 | 186 | 125| 25 9 |170(210|230| 42 |105|210| 324 32.4
32-200/3.0 | 50 | 95 | 125 | 165 | 16 | 4 32 75 | 100 | 140 | 14 | 340|160 | 180 | 155| 80 | 296 | 528 | 205|140 | 22,5 | 11 | 185|160|202| 41 |106|210| 46.9 46.9
32-200/4.0 | 50 95 | 125 | 165 | 16 | 4 32 75 | 100 | 140 | 14 | 340|160 | 180 | 171 | 80 | 296 | 550 | 212|140 | 22,5 | 11 | 185|190| 228 | 41 | 106 | 210 49 49
50-125/2.2 | 65 | 115 | 145 | 185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 292 | 132| 160 | 148 | 100 | 254 | 497 | 186| 125| 25 9 |170(210|230| 42 |105|210| 329 32.9
65-125/4.0 | 80 | 134 | 160 | 200 | 18 8 65 | 115 | 145 | 185 | 16 | 340 | 160| 180 | 171 | 100 | 254 | 570 | 212 | 140 | 22,5 | 11 | 185|190 | 228 | 42 | 105|210 50.1 50.1

(*) Only for IE3 Motors

410

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

50Hz

DIMENSIONS AND WEIGHT

Rev. R
PUMP 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5, 50-125/3/4, 50-160
50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2
B
D2
P2 A
DN2 i v2 7-918
« £=Plo |
T )
L
| M
H 15 ~N
_ — H } T p—t=q_ iy
- 1| 11000000000 I
=Rl | | — VN>
—| < = naannana / ) T
ol | a Uguuuouuy y —/
AL 4
R H =4y
000000000 — \ &9
§ . B - ¥ -
: gl |15 B ‘:l l: I T
EIWE, ¥ Ham -
<§ H B } } L
St == | ﬂ) == m
R 19 ‘ ©
|
C 15
M1 M2
4-918
- i — >
) - T «
——h
E——7p [
ol R — DN2
ST o9
- ‘ G ‘
[, AN I S i\ ‘
J 45,' '
Dimensions [mm] Weight
Model |2 || o || 2| o [kgf]
H|H |HR|[HB|HM|R|A|B| C|F|lG|L|L2|w|M|M|N
DN1| Pl | K1 | Dl |S1| 2z |DN2| P2 | K2 | D2|Ss2 *
32-200/55 | 50 | 95 | 125| 165| 16 | 4 | 32 | 75 | 100| 140 | 14 | 340 | 160 180 | 198 | 28 | 80 [ 300 | 607 | 479 | 12| 270|216 [ 266 | 50 | 41 | 106 | 210 71.8 | 71.8
32-2007.5 | 50 | 95 [125]| 165| 16 | 4 | 32 [ 75 [ 100 140 | 14 [ 340 | 160 [ 180 | 198 28 | 80 | 300 | 607 [ 479 [ 12| 270|216 | 266 | 50 | 41 | 106 [ 210] - 87
40-125/15 | 65 | 115| 145| 185| 16 | 4 | 40 | 80 | 110| 150 | 14 [ 252 112 140 | 148 22 [ 80 [ 213|477 | 342 [ 10| 186 [ 140 | 185 | 45 [325] 117 | 190 | 265 | 26,5
40-125/22 | 65 [ 115 145| 185] 16 | 4 | 40 | 80 [ 110|150 | 14 [ 252 112 140 | 148 | 22 | 80 | 213|477 | 342 [ 10| 186 | 140 | 185 | 40 [32,5] 117 | 190 | 29.5 | 29.5
40-160/3.0 | 65 [ 115 145| 185| 16 | 4 | 40 | 80 [ 110|150 | 14 [ 292 132 160 | 155 | 32 | 80 | 254 | 528 387,5( 12| 220 [ 160 | 200 [ 50 | 42 | 105| 210 | 425 | 425
40-160/4.0 | 65 | 115 | 145| 185| 16 | 4 | 40 | 80 | 110|150 | 14 [ 292 132 160 | 171 | 20 | 80 | 254 | 550 394,5[ 12 [ 220 [ 190 [ 240 50 | 42 | 105|210 | 446 | 446
40-200/55 | 65 [ 115 145| 185] 16 | 4 | 40 | 80 [ 110|150 | 14 [ 340 160 | 180 | 198 | 28 | 100 | 300 627 | 479 [ 12| 270 [ 216 [ 266 | 50 | 41 | 106 | 210 | 72.2 | 72.2
40-200/7.5 | 65 | 115 145| 185[ 16 | 4 | 40 | 80 | 110] 150 | 14 [ 340 160 | 180 | 198 | 28 [ 100 | 300 | 627 | 479 | 12| 270| 216 [ 266 | 40 | 41 [ 106|210 - 82
50-125/3.0 | 65 | 115|145 185| 16 | 4 | 50 | 95 [ 125] 165| 16 [ 292 | 132 160 | 155 32 | 100 | 254 | 548 [ 387,5[ 12| 220 160 | 200 [ 50 | 42 [ 105|210 355 | 355
50-125/4.0 | 65 | 115|145 185| 16 | 4 | 50 | 95 | 125] 165 | 16 [ 292 132 160 [ 171 | 20 | 100 | 254 | 570 [ 394,5[ 12| 220 190 | 240 [ 50 | 42 | 105|210 456 | 456
50-160/5.5 | 65 | 115 | 145]| 185| 16 | 4 | 50 | 95 | 125] 165| 16 | 340 | 160 | 180 198 28 | 100 | 300 | 627 | 479 [ 12 270 216 | 266 | 50 | 41 | 106 [ 210| 63.8 | 63.8
50-160/7.5 | 65 | 115 145| 185| 16 | 4 | 50 | 95 [ 125]| 165 16 | 340 | 160 180 | 198 | 28 | 100|300 | 627 | 479 | 12| 270 216 [ 266 | 50 [ 41 | 106|210 - 91
50-200/9.2 | 65 | 115|145 185| 16 | 4 | 50 | 95 | 125] 165| 16 | 360 | 160 | 200 | 198 | 28 | 100 | 300 | 667 | 479 [ 12| 270|216 | 266 | 50 | 41 | 106 [ 210 - | 907
65-125/5.5 | 80 | 134 | 160 200 | 18| 8 | 65 | 115| 145| 185| 16 [ 340 | 160 | 180 | 198 28 | 100 | 300 | 627 | 479 [ 12 270 216 | 266 [ 50 | 42 | 105|210 60 60
65-125/7.5 | 80 | 134|160 | 200 | 18 | 8 | 65 | 115[ 145]| 185 16 | 340 | 160 180 [ 198 | 28 [ 100 | 300 | 627 [ 479 | 12| 270 216 [ 266 | 50 [ 42 [ 105] 210 - | 794
65-160/7.5 | 80 | 134 [ 160| 200 | 18| 8 | 65 | 115 | 145| 185| 16 [ 360 | 160 | 200 [ 198 28 | 100 | 300 | 627 | 479 [ 12| 270 216 | 266 [ 50 | 41 | 106 [ 210| - | 824
65-160/9.2 | 80 | 134|160 200 | 18| 8 | 65 | 115| 145 185| 16 | 360 | 160 | 200 | 198 | 28 | 100 | 300 | 667 [ 479 [ 12| 270|216 | 266 [ 50 [ 41 | 106 [ 210 - 88

(*) Only for IE3 Motors

411

E2ARA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

DIMENSIONS AND WEIGHT 50Hz
Rev. R
PUMP 3LSZ 40-200/11, 50-20011/15, 65-160/11/15, 65-200
B
D2
P M40x1.5
A
- o~
x
Y
o L f \ _ 1=
Y
o
=/ ~— 2
] — _/“l/iﬁ;|
100 c | 350 | 16 S 7_418
o 3 S
3 |
s 382 |
D o3
4 FORI ¢ 15
IANS==— ] :
i T <
‘ _
| 329 V 241 ! 24.5 \ 279 \ 5
4 FORI 0 15 /| 300 348 |
Dimensions [mm] Weiah
Model oo oo | o|o|o eight
Fig.| H | H2 | H3| A | B | C |[kofl
Nt [ Pt [kt | D1 |s1|z |one| P2 | ke | D2 |s2
40-200/11 | 65 | 115| 145 | 185] 16| 4 | 40 | 80 | 110 | 150 | 14 | 1 | 360 | 180 | 238 | 350 | 796 | 258 | 117.8
50-200/11 | 65 | 115| 145 | 185| 16| 4 | 50 | 95 | 125| 165| 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 117.8
50-200/15 | 65 | 115| 145 | 185| 16| 4 | 50 | 95 | 125| 165| 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 147.9
65-160/11 | 80 | 134 | 160 | 200| 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 380 | 200 | 238 | 350 | 796 | 258 | 86.8
65-160/15 | 80 | 134 | 160 | 200| 18 | 8 | 65 | 115 | 145 | 185| 16 | 1 | 380 | 200 | 238 | 350 | 806 | 268 | 120.9
65-200/15 | 80 | 134 | 160 | 200| 18 | 8 | 65 | 115 | 145 | 185| 16 | 1 | 405 | 225 | 238 | 350 | 806 | 268 [ 138
65-200/18.5 | 80 | 134 | 160 | 200 | 18 | 8 | 65 | 115 | 145 | 185 | 16 | 1 | 405 | 225 | 238 | 350 | 850 | 268 | 137.2
65-200/22 | 80 | 134 | 160 | 200| 18 | 8 | 65 | 115 | 145 | 185 | 16 | 2 | 405 | 225 | 268 | 360 | 885| - [ 175

412

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PUMP 3LS 80-160

@ 200
9 135 175 ) 175
M40x1.5
DN8Q M40x1.5 8-918 2-63/8
N
7 o [0 4
(] N T e 3 .
1| | | ——— o “
§8g P il e 1> — ¢
s < & M. o150
00000000000 == =
| M|
. / _
24 | - ! ¥
o
L%l N 4-915 65
125 20 250
125 621 [ 320
B
350
.
T
o~
g | PO S —
<+ <
s "
Weight
Pump type B H3 G
p typ [Kgf]
80-160/11 831 238 317 145.8
80-160/15R 831 238 317 157
80-160/15 831 238 317 157
80-160/18.5 875 238 317 151.2
5 E2ARA EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



|uoapdwod®@oul ¢€1.//64-762(0) L€+ 4 2LLLSh-162(0) LE+ L

'v'd's 3dodN3 sdnd WY Vgl

143%

D1

P2 Al A2
8-¢18
V2
] N
M
N
ﬁ § T T
1T ]
- T C —
c :
T T
— = T [
= ——— | _ R L
al & = s
T
T
E T
- —TrTr——] —
pu
I |
4-¢D3 H ‘ M1
HH I
N1
R C L F1 N2
+ |
B
L5
S A
—
4-¢D5
o~
+- S
Pump type Dimensions [mm] V\{:;;fl]w!
DN1| P1 | K1 | D1 | S1 DN2 P2 | D2 |S2| H H1 | H2 | H3 | H4 | H5 | R W | N1 | N2 M | M1 L L1 L2 [ L3 | L5 | A1 | A2 B C F1 G | D3 | D5 V1 V2
65-250/30 80 | 135 | 160 | 200 | 22 |65 Fig. 1| 120 | 185 | 20 | 450 | 200 | 250 | 300 | 15 | 25 | 100 | 120 | 280 | 360 | 160 | 80 | 305 | 318 | 388 | 80 | 358 | 200 | 200 | 966 | 341 | 21.5| 399 | 19 | 17 | M40x1.5 | M40x1.5 | 303
65-250/37 80 | 135|160 | 200 | 22 |65 Fig. 1| 120 | 185 | 20 | 450 | 200 | 250 | 300 | 15 | 25 | 100 | 120 | 280 | 360 | 160 | 80 | 305 | 318 | 388 | 80 | 358 | 200 | 200 | 966 | 341 | 21.5| 399 | 19 | 17 | M40x1.5 | M40x1.5 | 320
80-200/22 100 | 155 | 180 | 225 | 24 |80 Fig. 2| 135 | 200 | 22 | 430 | 180 | 250 | 268 | 13 | 27 | 125 | 95 | 280 | 345 | 125 | 65 | 241 | 279 | 348 | 75 | 300 | 175 | 182 | 910 | 329 | 24.5| 360 | 15 | 14 | M32x1.5 | M32x1.5 | 207
80-250/37 100 | 155 | 180 | 225 | 24 |80 Fig. 2| 135 | 200 | 22 | 480 | 200 | 280 | 300 | 15 | 25 | 125 | 120 | 315 | 400 | 160 | 80 | 305 | 318 | 388 | 80 | 358 | 200 | 200 | 1019 369 | 21.5| 399 | 19 | 17 | M40x1.5 | M40x1.5 | 335

L€/052-08 ‘002-08 ‘052-59 S1€ dWNd

NN
ZH0S

1HOIIM ANV SNOISN3NIA

SdINNd TvON4dId1N3D

LD« dNOd

S3l43dS €



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

Rev. R
PUMP 3LS 80-200/30/37, 80-250/45
¢ 200
Vi
® 135 8-918 Al A2
V2
N DN8Q / 2-G3/8
I A 7 -
e
AN /
24 /J ? — <,_T, o ‘ ‘ N
Bl === ———1 S *
= : I X
wl v o 1} : } -
] 2 g E e —1 : % - -
SEE 3 1 oo
T i
tmm! L T
7 x
L (S *
~—__ ;
T L{ | (T [ ]
T
\ o
W - 4-¢D3 M1
\
M N1
125 ‘ c L |F1 N2
B
L5 E
4 e 2
4-¢17
i o
Pump type Dimensions [mm] V\{Ei%ht
H H1 | H2 | H3 |H4|H5] W | N1 | N2 | M | M1 L L1 | L2 |L3| L5 | A1 | A2 B C F1 G |D3 V1 V2 9
80-200/30 | 450|200 | 250 | 300 | 20 [ 25| 95 | 280 | 360 | 130 | 80 | 305| 318 | 388 | 80 | 358 | 200 | 200 | 991 | 341 | 21.5 | 399 | 14 [M40x1.5|M40x1.5| 306
80-200/37 | 450|200 | 250 | 300 | 20 [ 25| 95 | 280 | 360 | 130 | 80 | 305| 318 | 388 | 80 | 358 | 200 | 200 | 991 | 341 | 21.5 | 399 | 14 [M40x1.5|M40x1.5| 325
80-250/45 | 505 | 225|280 |335|25|28|120| 315 |415| 165 | 100 | 311 | 356 | 436 | 80 | 386 | 225 | 225| 1060 | 385 | 37.5 | 465 | 18 [ M50x1.5 | M50x1.5| 401

415

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

¢ 225

DIMENSIONS AND WEIGHT 50Hz
Rev. R
PUMP 3LS 80-250/55
9 200 M50x1.5
9 135 M50x1.5 275 275
2-63/8
24 @
; B
= 819 ““‘
315
26 405
1151
500
P 5 8
Weight: 489 kgf
416

B EaanA

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl

EBARA PUMPS EUROPE S.p.A.



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PUMP 3(.)P 32, 40, 50, 65

Z-¢18

S
2 LS

N

N1

N2

7-918

L
J

4-915 ‘ ‘

o I
T ©
PN
Te RN
S~ \{
2] S WV
S «&
SR
| [
N oW
M B ©
[aa} — —
| - 22
> >
j j =
S o

360

L

D
4918 ///\
ae 7
DI;IZ
For dimensions see table pag. 418

417

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




|ujoalipdwod@oyul €1225y-v62(0) LE+ 4 2LLLSY-762(0) LE+ L

'v'd's 3dodN3 sdnd WY Vgl

Dimensions [mm] Weight
Model
b|0 1210 zZ 10101010 H|{H1T|H2|H3| R| A| B |B1| D| E |[NT|N2|N3| T V1 V2 teat
DN1P1|K1|D1|S1|[1]|[2]|DN2| P2 | K2 | D2 |S2 *)

32-125/1.1 50| 95 (125|165|16| 4 | - | 32 | 75 |100|140|14{302|112| 140|139 | 80 |213| 715 |272| 80 [550 | 300|340 |250| 710 | M25x1.5 | M20x1.5 | 45.1 | 46.7
32-160/1.5 |50 | 95(125/165|16| 4 | - | 32 | 75 [100|140| 14 |342|132|160 | 148 | 80 |254 | 760 |317| 80 | 590|350 390|300 | 750 | M25x1.5 | M20x1.5 | 52.3 | 52.3
32-160/2.2 |50 | 95(125|165|16| 4 | - | 32 | 75 [100|140| 14 |342|132|160 | 148 | 80 |254 | 760 |317| 80 | 590|350 390|300 | 750 | M25x1.5 | M20x1.5 | 53.5 | 53.5
32-200/3 50| 95 (125|165|16| 4 | - | 32 | 75 |100|140|14|390|160| 180 |155| 80 |296 | 809 |366| 80 [590|350|390|300| 750 | M25x1.5 | M20x1.5| 71.5 | 71.5
32-200/4 50 (95 (125(165(16| 4 | - | 32 | 75 |100|140(14|390(160|180|171| 80 |296 | 831 |388| 80 |590|350|390|300 | 750 | M25x1.5 | M20x1.5 | 75.1 | 75.1
32-200/5.5 |50 | 95 (125|165|16|4 | - | 32 | 75 (100|140(14|390(160|180|198 | 80 |296 | 885 |442|100|650 |350 390|300 | 850 | M32x1.5 | M32x1.5 97 97
32-200/7.5 |50 95 |125|165[16|4 | - | 32 | 75 [100(140| 14 |390|160| 180|198 | 80 {296 | 885 (442|100 |650 | 350|390 (300 | 850 | M32x1.5 | M32x1.5 - 112,2
40-125/1.5 | 65|115(145|185|16|4 | - | 40 | 80 |[110|150| 14 |302|112|140|148| 80 [213| 760 [317| 80 | 550|300 |340|250| 710 | M25x1.5 | M20x1.5 | 49.8 | 49.8
40-125/2.2 | 65(115/145(185|16| 4 | - | 40 | 80 |110|150|14|302|112|140{148| 80 |213| 760 [317| 80 |550|300|340 (250 | 710 | M25x1.5 | M20x1.5 51 51
40-160/3 65|115(145(185|16| 4 | - | 40 | 80 |[110(150| 14 |342|132|160 | 155| 80 (254 | 809 [366| 80 | 590 | 350|390 [300 | 750 | M25x1.5 | M20x1.5 81 81
40-160/4 65 (115(145/185|16| 4 | - | 40 | 80 (110|150 14|342|132|160|171| 80 |254 | 831 |388| 80 | 590|350 390|300 | 750 | M25x1.5 | M20x1.5 | 67.6 | 67.6
40-200/5.5 |65(115/145(185|16|4 | - | 40 | 80 |110|150|14|390|160| 180|198 |100|296 | 905 |442|100|650 | 350|390 [ 300 | 850 | M32x1.5 | M32x1.5 98 98
40-200/7.5 |65|115(145|185|16|4 | - | 40 | 80 |[110|150| 14 |390| 160|180 | 198 |100|296 | 905 442100650 [ 350|390 300 | 850 | M32x1.5 | M32x1.5 - 106,9
40-200/11 65|115(145(185|16| 4 | - | 40 | 80 |[110(150| 14 |390|160| 180 | 238 |100|296 | 1071|608 | 100 | 800 | 380 | 420 | 330 | 1000| M40x1.5 | M40x1.5 - 127,8
50-125/2.2 |65|115|145|185|16| 4 | - | 50 | 95 [125/165| 16 |342|132|160 | 148 | 100|254 | 780 {317 | 80 |550| 350|390 300 | 710 | M25x1.5 | M20x1.5 75 75
50-125/3 65|115(145(185|16| 4 | - | 50 | 95 |125|165|16|342|132|160 | 155|100|254 | 829 [366| 80 |590 | 350|390 |300| 750 | M25x1.5 | M20x1.5 | 82.5 | 82.5
50-125/4 65 (115(145/185|16| 4 | - | 50 | 95 [125|165|16|342|132|160 | 171 |100|254 | 851 |388| 80 | 590|350 390|300 | 750 | M25x1.5 | M20x1.5 | 84.6 | 84.6
50-160/5.5 |65 [115(145/185|16| 4 | - | 50 | 95 [125]|165|16|390|160| 180 | 198 100|296 | 905 |442|100|650 | 350 [ 390 | 300 | 850 | M32x1.5 | M32x1.5 98 98
50-160/7.5 |65 (115(145/185|16| 4 | - | 50 | 95 [125]|165|16|390|160| 180 | 198 100|296 | 905 |442|100|650 | 350 [ 390 | 300 | 850 | M32x1.5 | M32x1.5 - 106,9
50-200/9.2 |65 (115(145|185|16| 4 | - | 50 | 95 |125|165|16|410|160|200 | 198 100|296 | 945 |482|100|650 | 350 | 390 | 300 | 850 | M32x1.5 | M32x1.5 - 111
50-200/11 65|115(145(185|16| 4 | - | 50 | 95 |125|165|16 |410|160|200 | 238 | 100|296 | 1071 |608 | 100 | 800 | 380 | 420 | 330 | 1000| M40x1.5 | M40x1.5 - 128,3
50-200/15 65|115(145(185|16| 4 | - | 50 | 95 |125|165|16 |410|160|200 [ 238 | 100|296 | 1071 |608 | 100 | 800 | 380 | 420 | 330 | 1000| M40x1.5 | M40x1.5 - 135,4
65-125/4 80 (134(160(200{18| 8 | 4 | 65 |115|145|185[16|390(160| 180|171 100|254 | 851 |388| 80 |590 350|390 |300 | 750 | M25x1.5 | M20x1.5 | 85.1 | 85.1
65-125/5.5 | 80 (134(160|200|18| 8 | 4 | 65 |115(145|185(16|390|160| 180|198 100|254 | 905 |442|100|650 |350 (390|300 | 850 | M32x1.5 | M32x1.5 99 99
65-125/7.5 |80 [134(160/200|18|8 | 4 | 65 [115|145|185|16|390|160| 180 | 198 100|254 | 905 |442|100|650 | 350 [ 390 | 300 | 850 | M32x1.5 | M32x1.5 - 109,4
65-160/7.5 |80 [134(160/200|18|8 | 4 | 65 [115|145|185|16|410|160|200 | 198 100|296 | 905 |442|100|650 | 350 [ 390 | 300 | 850 | M32x1.5 | M32x1.5 - 115,4
65-160/9.2 | 80 [134(160/200|18| 8 | 4 | 65 [115|145|185|16|410|160|200 | 198 100|296 | 945 |482|100|650 | 350 [ 390 | 300 | 850 | M32x1.5 | M32x1.5 - 118
65-160/11 80 |134(160|200|18| 8 | 4 | 65 |115|145|185|16|410| 160|200 |238 100|296 | 1071|608 | 100|800 | 380 | 420 | 330 | 1000 | M40x1.5 | M40x1.5 - 124,8
65-160/15 80 (134(160(200{18| 8 | 4 | 65 |115|145|185|16|410|160|200 (238 100|296 | 1071 |608| 100|800 | 380 | 420 | 330 {1000 | M40x1.5 | M40x1.5 - 129
65-200/15 80 (134(160(200{18| 8 | 4 | 65 |115|145|185|16|455|180|225|238 100|296 | 1071 |608| 100|800 | 380 | 420 | 330 [1000 | M40x1.5 | M40x1.5 - 137
65-200/18.5 | 80 [134|160|200|18| 8 | 4 | 65 |115(145|185|16|455|180 (225|238 |100|296 | 1115 |652| 100|800 | 380 [420 | 330 [1000| M40x1.5 | M40x1.5 - 135,2
65-200/22 80 (134(160(200{18| 8 | 4 | 65 |115|145|185|16|455|180|225 | 268 100|296 | 1150 |687| 100|800 | 410|450 | 360 [1000 | M32x1.5 | M32x1.5 - 189
(*) Only for IE3 Motors [1] Standard  [2] On request

8Ly

69 ‘0S ‘oF ‘ze d(')€ dNNd

Y Aoy
ZH0S

1HOIIM ANV SNOISN3NIA

SdINNd TvON4dId1N3D

LD« dNOd

S3l43dS €



|uyoaspdwod®@oyul ¢1//6H-+62(0) LE+ 4 Z2L2.SP-v62(0) LE+ L

'v'd's 3dodN3 sdnd WY Vgl

6Ly

D1

P1

B1

Vi

V2

1A\

/1]

et g
[&]
Ny T
<
o
n
| :
T
b
R C N3
100 E N1
T N2
Pump type Dimensions [mm] V\{Eigf?t
DN1| P1| k1| D1|$1 DN2 P21 D2|S2{ H |H1|H2|H3|H4 R IN1|N2|N3| B [B1|C | G| E T | S|D4|Sp. \'Al V2 g
65-250/30 80 [135/160(200|22 | 65 Fig. 1 [120|185|20|510|200|250|300|60 |100|530|590|460| 1341 |768|470|399|1000(1200| - (19| 8 | M40x1.5 | M40x1.5 | 354
65-250/37 80 [135/160(200|22 | 65 Fig. 1 [120|185|20|510|200 (250|300 |60 |100|530|590|460| 1341 |768|470|399|1000(1200| - (19| 8 | M40x1.5 | M40x1.5 [ 373
80-160/11 100 (15518022524 | 80 Fig. 2 {135]200 |22 |455(180|225|238 |50 | 125|380 (420 |330| 1096 |608|360|317| 800 [1000({20|15| 5 | M40x1.5 | M40x1.5 | 174,8
80-160/15R | 100 {155(180|225(24 | 80 Fig. 2 | 135|200 |22 455|180 (225|238 50 | 125|380{420|330| 1096 {608 360|317 | 800 |1000|20|15| 5 | M40x1.5 | M40x1.5 | 186
80-160/15 100 (15518022524 | 80 Fig. 2 {135|200|22 |455|180|225(238 |50 (125|380 (420|330 1096 608 360|317 | 800 |1000{20(15| 5 | M40x1.5 | M40x1.5 | 186
80-160/18.5 | 100 {155(180(225|24 | 80 Fig. 2 | 135|200 |22 |455|180|225(238 |50 | 125|380|420|330| 1140 {652 (360|317 | 800 |1000{20(15| 5 | M40x1.5 | M40x1.5 | 181,2
80-200/22 100 (15518022524 | 80 Fig. 2 {135|200|22|490|180|250 (268 |60 [ 125|530 590 (460 | 1285 |687 |470|360|1000|1200 - (19| 8 | M32x1.5 | M32x1.5 | 259
80-250/37 100 (15518022524 | 80 Fig. 2 {135|200|22 |540{200|280 (300 |60 [125|530 (590 460 1366 | 768 |470(399 /1000|1200 - (19| 8 | M40x1.5 | M40x1.5 | 377

052/002/091-08 ‘052-S9 d1€ dINNd

Y Aoy
ZH0S

1HOIIM ANV SNOISN3NIA

SdINNd TvON4dId1N3D

LD« dNOd

S3l43dS €



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PUMP 3LP 80-200/30/37, 80-250/45

% 225

» 200 B
f@ 2-G3/8
2% : 8018 I
= ]
NN
B 8_ 1 _© T
s| 3 s 9180
=
2]
3
0
460
100 1000 530
1200 590
Pump type Dimensions [mm] Weight
(kgf]
H H1 H2 H3 B B1 G S V1 V2
80-200/30 | 510 | 180 | 250 | 300 [ 1366| 768 | 399 | 20 | M40x1.5 [ M40x1.5| 356
80-200/37 | 510 | 180 | 250 | 300 [ 1366| 768 | 399 | 20 | M40x1.5 [ M40x1.5| 365
80-250/45 | 565 | 200 | 280 | 335 [ 1407 | 809 | 465 | 25 | M50x1.5 [ M50x1.5| 440
420
g E2ARA EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PUMP 3LP 80-250/55

S09

2-G3/8

550
620
680

|
|
—
URTAGEAr s
\:: ‘ e
© é L= ‘ j
|
o e
i ik
‘\TL ! J[_)j
i
|
| g
[44
o o o ~ ] -
R [t 2
el ] e 2
4\ — 0
g ||l 5
0ING >
GGl ¢ ;
GlC ¢
421
g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PACKING 3(.)M

Packing [mm] V\flfl%ht
Pump type g )
X|vy|z]| p- 3~
[1~] [3~] 3]
32-125/1.1 (M) | 250 | 300 | 450 | 21,5 | 29 -
32-160/1.5 (M) | o0 | 330430 242 | 317 -
32-160/2.2 (M) 340 490| 27,3 | 335 - TYPE 1
32-200/3 - 41 -
32-200/4 : 44 5 o
32-200/5.5 350 488 | 550 )— 60,5 -
32-200/7.5 - - 65,6
40-125/1.5 (M) | 250 | 300 | 450 | 22,3 | 30 -
40-125/2.2 (M) | 280 | 340 | 490 | 24,7 | 315 - ”
40-160/3 - 28,8 -
40-160/4 550 [ - 46,5 - N
40-200/5.5 350 | 488 - 615 - L \y
40-200/7.5 - - 68,1
40-200/11 00— - 794 2
50-125/2.2 (M) | 280 | 340 | 490 | 30,8 | 38 -
50-125/3 - 37 - TYPE 2
50-125/4 550 [ - 47 :
50-160/5.5 - 515 - L /-
50-160/7.5 350 | 488 - - 67,6
50-200/9.2 700 - - 735
50-200/11 - - 78,9
50-200/15 390 | 532|880 - - 113,1 .
65-125/4 0| 417 -
65-125/5.5 - 53,2 -
65-125/7.5 - - 56,6
65-160/7.5 350 | 488 200~ - 60,6 J t Y
65-160/9.2 - - 66,5 T , \%
65-160/11 - - 72,4 | |
65-160/15 - - 112,1
65-200/15 - - 115,1
652001185 | o0 | 932|880 — - 127,3
65-200/22 - - 134,1
80-160/11 370 | 538|680 | - - 105,4
80-160/15R - - 136,1
80-160/15 370 | 527|860 | - - 137,1
80-160/18.5 - - 151,3
(*) Only for IE3 Motors
422
5 E2ARA EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

DIMENSIONS AND WEIGHT 50Hz

Rev. R

PACKING 3(.)S

. Weight
Pummp type Packing [mm] [kgf]
Xl vy| z )

32-125/1.1 450 | 250 | 300 | 34,7 | 36,3
32-160/1.5 359 | 359

4 , ,
32-160/2.2 350 488 | 580 \— 51
(™) 32-200/3.0 | 370 | 538 | 680 | 51,9 | 51,9
32-200/3.0 519 | 51,9
32-200/4.0 743 743
32-200/5.5 350 498 | 700 o5 824
32-200/7.5 - 67 TYPE 1
40-12511.5 333 333
40-125/2.2 350 | 488 | 580 454 | 454 —
40-160/3.0 49 | 49
40-160/4.0 76,4 | 76,4

4 7 ’ ’
40-200/5.5 350 | 498 | 700 84,2 | 842
40-200/7.5 N 116 .
40-200/11 390 | 598 | 970 | - | 1463
50-125/2.2 330 | 493 | 680 | 37.8 | 37.8
50-125/3.0 496 | 49,6 1 A
50-125/4.0 476 | 476
50-160/5.5 350 | 498 700 |—7 84 /
50-160/7.5 - [957
50-200/9.2 - 116
50-200/11 390 | 598 | 880 [ - [139.9 TYPE 2
50-200/15 - | 1729
65-125/4.0 69 | 69 T —
65-125/5.5 774 | 774
65-125/7.5 3501 4981 700 \— 85
65-160/7.5 - 92
65-160/9.2 880 | - 103 >
65-160/11 970 || 1079
65-160/15 390 | 598 - 138
65-200/15 880 - | 1476 J t
65-200/18.5 970 | - [ 1665 r +
65-200/22 500 | 727 | 1100 | - 235 \ Z \
65-250/30 - 339

480 | 722 1

65-250/37 80 080 — 141
80-160/11 - | 156.9
80-160/15R a70| 597 ] 80 | - 163
80-160/15 - | 1686
80-160/18.5 593 940 | - [ 2255
nr i
80-200/37 722 | 1080 |— 354
. 488 .
80-250/37 - 429
80-250/45 580 | 822 | 1380 517
80-250/55 - 517

(*) Only for IE3 Motors
(**) Only for “Z” version

423

5 E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




CENTRIFUGAL PUMPS

POMP@®)IRECT

3 SERIES

DIMENSIONS AND WEIGHT

50Hz

) Weight
Pump type Packing [mm] [kqgf]

z X Y *)
32-125/1.1 304 45,1 46,7
32-125/1.1 M 43,5 43,5
32-160/1.5 52,3 52,3
32-160/1.5 M 434 51 51
32-160/2.2 53,5 53,5
32-160/2.2 M 53,5 53,5
32-200/3.0 71,5 71,5
32-200/4.0 482 75,1 75,1
32-200/5.5 97 97
32-200/7.5 - 112.2
40-125/1.5 49,8 49,8
40-125/1.5 M 304 48,5 48,5
40-125/2.2 51 51
40-125/2.2 M 51 51
40-160/3.0 434 81 81
40-160/4.0 67,6 67,6
40-200/5.5 98 98
40-200/7.5 482 106.9
40-200/11 - 127.8
50-125/2.2 75 75
50-125/2.2 M 434 75 75
50-125/3.0 82,5 82,5
50-125/4.0 84,6 84,6
50-160/5.5 482 98 98
50-160/7.5 106.9
50-200/9.2 1200 | 800 111
50-200/11 502 128.3
50-200/15 - 135.4
65-125/4.0 85,1 85,1
65-125/5.5 482 99 99
65-125/7.5 109.4
65-160/7.5 115.4
65-160/9.2 502 118
65-160/11 124.8
65-160/15 129
65-200/15 547 137
65-200/18.5 135.2
65-200/22 189
65-250/30 685 354
65-250/37 373
80-160/11 174.8
80-160/15R 503 186
80-160/15 186
80-160/18.5 181.2
80-200/22 633 259
80-200/30 356
80-200/37 685 365
80-250/37 377
80-250/45 745 440
80-250/55 811 528

(*) Only for IE3 Motors

Rev. R

PACKING 3(.)P

424

B EaanA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT

CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA 50Hz

Rev. R

MOTOR DATA 3(.)M

Pump type Power Efficiency Capacitor Efficiency (% load) Input Full load current Locked rotor current
Three phase kW] [A] [A]
Single Phase Three Phase kw1 | (e Single | Three | Single Phase n% Single | Three | Single Phase Three Phase Single Phase Three Phase
Phase | Phase [ [uF] | [v] | 50% | 75% | 100% | Phase | Phase 230V 230 V| 400 V| 690 V. 230V 230V | 400V | 690 V
3(.)M 32-125/1.1 M 3(.)M(Z) 32-125/1.1 11 1,5 - IE2 315 | 450 | 79,5 | 82,0 | 825 | 1,51 1,82 6,7 56 3.2 - 23,5 57,0 | 33,0 -
3(.)M 32-160/1.5 M 3(.)M(Z) 32-160/1.5 1,5 2,0 - IE2 40 450 | 795 | 820 | 825 | 2,10 | 1,82 9,6 5,6 3.2 - 47 57,0 | 33,0 -
3(.)M 32-160/2.2 M 3(.)M(Z) 32-160/2.2 22 3,0 - IE2 50 450 | 83,1 | 857 | 86,2 | 295 | 2,55 13,3 78 4,5 - 63,8 750 | 435 -
- 3(.)M(Z) 32-200/3.0 3,0 4,0 - IE2 - - 85,0 | 86,7 | 86,3 - 3,48 - 10,6 | 6,1 - - 100,0 | 57,7 -
- 3(.)M(Z) 32-200/4.0 4,0 55 - IE2 - - 84,3 | 87,2 | 878 - 4,56 - 151 | 87 - - 151,0 | 87,0 -
- 3(.)M(Z) 32-200/5.5 55 75 - IE2 - - 82,9 | 86,0 | 87,4 - 6,29 - - 104 | 6,0 - - 116,0 | 67,0
- 3(.)M(Z) 32-200/7.5 75 10,0 - IE3 - - 89,0 | 90,7 | 90,8 - 8,26 - - 136 | 7.9 - - 144,0 | 83,0
3(.)M 40-125/1,5 M 3(.)M(Z) 40-125/1.5 1,5 2,0 - IE2 40 450 | 79,5 | 82,0 | 825 | 2,10 | 1,82 9,6 5,6 3.2 - 47 57,0 | 33,0 -
3(.)M 40-125/2.2 M 3(.)M(Z) 40-125/2.2 22 3,0 - IE2 50 450 | 83,1 | 857 | 86,2 | 295 | 2,55 13,3 78 4,5 - 63,8 750 | 435 -
- 3(.)M(Z) 40-160/3.0 3,0 4,0 - IE2 - - 85,0 | 86,7 | 86,3 - 3,48 - 10,6 | 6,1 - - 100,0 | 57,7 -
- 3(.)M(Z) 40-160/4.0 4,0 55 - IE2 - - 84,3 | 87,2 | 878 - 4,56 - 151 | 87 - - 151,0 | 87,0 -
- 3(.)M(Z) 40-200/5.5 55 75 - IE2 - - 82,9 | 86,0 | 87,4 - 6,29 - - 104 | 6,0 - - 116,0 | 67,0
3(.)M(Z) 40-200/7.5 75 10,0 - IE3 - - 89,0 | 90,7 | 90,8 - 8,26 - - 136 | 7.9 - - 144,0 | 83,0
3(.)M(Z) 40-200/11 11,0 | 15,0 - IE3 - - 90,4 | 91,2 | 91,8 - 11,98 - - 21,3 | 123 - - 184,0 | 107,0
3(.)M 50-125/2.2 M 3(.)M(Z) 50-125/2.2 22 3,0 - IE2 50 450 | 83,1 | 85,7 | 86,2 | 295 | 2,55 13,3 78 4,5 - 63,8 750 | 435 -
- 3(.)M(Z) 50-125/3.0 3,0 4,0 - IE2 - - 85,0 | 86,7 | 86,3 - 348 - 10,6 | 6,1 - - 100,0 | 57,7 -
- 3(.)M(Z) 50-125/4.0 4,0 55 - IE2 - - 84,3 | 87,2 | 878 - 4,56 - 151 | 87 - - 151,0 | 87,0 -
- 3(.)M(Z) 50-160/5.5 55 75 - IE2 - - 82,9 | 86,0 | 87,4 - 6,29 - - 104 | 6,0 - - 116,0 | 67,0
- 3(.)M(Z) 50-160/7.5 75 10,0 - IE3 - - 89,0 | 90,7 | 90,8 - 8,26 - - 136 | 7,9 - - 144,0 | 83,0
- 3(.)M(Z) 50-200/9.2 9,2 12,5 - IE3 - - 90,1 | 90,8 | 90,9 - 10,12 - - 17,2 | 10,0 - - 166,0 | 96,0
- 3(.)M(Z) 50-200/11 11,0 | 15,0 - IE3 - - 904 | 91,2 | 91,8 - 11,98 - - 21,3 | 123 - - 184,0 | 107,0
- 3(.)M(Z) 50-200/15 15,0 | 20,0 - IE3 - - 91,2 | 92,0 | 91,9 - 16,32 - - 27,7 | 17,3 - - 225,0 | 130,0
- 3(.)M(Z) 65-125/4 4,0 55 - IE2 - - 84,3 | 87,2 | 878 - 4,56 - 151 | 87 - - 151,0 | 87,0 -
- 3(.)M(Z) 65-125/5.5 55 75 - IE2 - - 82,9 | 86,0 | 87,4 - 6,29 - - 104 | 6,0 - - 116,0 | 67,0
- 3(.)M(Z) 65-125/7.5 75 10,0 - IE3 - - 89,0 | 90,7 | 90,8 - 8,26 - - 136 | 7,9 - - 144,0 | 83,0
- 3(.)M(Z) 65-160/7.5 75 10,0 - IE3 - - 89,0 | 90,7 | 90,8 - 8,26 - - 136 | 7,9 - - 144,0 | 83,0
- 3(.)M(Z) 65-160/9.2 9,2 12,5 - IE3 - - 90,1 | 90,8 | 90,9 - 10,12 - - 17,2 | 10,0 - - 166,0 | 96,0
- 3(.)M(Z) 65-160/11 11,0 15,0 - IE3 - - 90,4 | 91,2 | 91,8 - 11,98 - - 21,3 | 123 - - 184,0 | 107,0
- 3(.)M(Z) 65-160/15 15,0 | 20,0 - IE3 - - 91,2 | 920 | 91,9 - 16,32 - - 27,7 | 173 - - 225,0 | 130,0
- 3(.)M(Z) 65-200/15 15,0 | 20,0 - IE3 - - 91,2 | 920 | 91,9 - 16,32 - - 27,7 | 173 - - 225,0 | 130,0
- 3(.)M(Z) 65-200/18.5 18,5 | 25,0 - IE3 - - 916 | 93,0 | 92,6 - 19,98 - - 35,0 | 20,3 - - 328,0 | 190,0
- 3(.)M(Z) 65-200/22 22,0 | 30,0 - IE3 - - 92,0 | 93,1 | 93,2 - 23,58 - - 39,7 | 236 - - 391,0 | 227,0
- 3LM 80-160/11 11,0 15,0 - IE3 - - 90,4 | 91,2 | 91,8 - 11,98 - - 21,31 123 - - 184,0 | 107,0
- 3LM 80-160/15R 15,0 | 20,0 - IE3 - - 91,2 | 920 | 91,9 - 16,32 - - 27,7 | 17,3 - - 225,0 | 130,0
- 3LM 80-160/15 15,0 | 20,0 - IE3 - - 91,2 | 92,0 | 91,9 - 16,32 - - 27,7 | 17,3 - - 225,0 | 130,0
- 3LM 80-160/18.5 18,5 | 25,0 - IE3 - - 916 | 93,0 | 92,6 - 19,98 - 35,0 | 20,3 - - 328,0 | 190,0

500

E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@P)IRECT

CENTRIFUGAL PUMPS

3 SERIES

TECHNICAL DATA

50Hz

MOTOR DATA 3(.)S-3(.)P

Motor Locked rotor current
. Efficiency (% load) Full load current " u
ower =
Pump type Motor Efficiency IE\;;\L/H and power-factor Al [A]
. [kw] n% cos—¢ [ 230V | 400V | 690V | 230V | 400V | 690V
Size | kW] | [HP]
50% | 75% | 100%
IE2 135 | 795 | 812 | 815 | 078 | 43 | 25 - 204 | 170 -
3()S(2) 32-1251.1 | 3(.)P 32-125/1.1 80 | 11| 15
IE3 126 | 787 | 817 | 827 | 076 | 42 | 24 - 387 | 223 -
30S@) 3216015 | 30P 3216015 | s0s | 15 | 2 IE2 177 | 810 | 828 | 828 | 080 | 55 | 32 - 449 | 259 -
()5(2) 32- ’ ()P 32- ’ ’ IE3 177 | 832 | 848 | 842 | 085 | 52 | 30 - 436 | 252 -
IE2 259 | 825 | 840 | 840 | 085 | 76 | 44 - 648 | 374 -
3()S(2) 32-160/2.2 | 3()P 32-160/22 | 90L | 22 | 3
IE3 261 | 850 | 862 | 865 | 082 | 80 | 46 - 733 | 423 -
30S@) 3220080 | 3UP 322000 | 100L| 3 | 4 IE2 343 | 841 | 858 | 855 | 084 | 102 | 59 - 818 | 472 -
()S(2) 32-20013. ()P 32-200/3. IE3 345 | 823 | 858 | 871 | 089 | 97 | 56 - 854 | 493 -
IE2 464 | 852 | 864 | 8.1 | 086 | 135 | 78 - | 1109 | 640 -
3()S(2) 32-200/4.0 | 3(.)P 32-200/40 |[112M| 4 | 55
IE3 451 | 8.8 | 878 | 8.1 | 093 [ 121 | 70 - | 1164 | 672 -
30S(@) 3220055 | 3P 32-200/5.5 55 | 75 IE2 634 | 858 | 874 | 873 | 088 - [ 104 ] 60 - 832 | 480
()S(2) 32-200/5. ()P 32-200/5. 1328 i IE3 624 | 80 | 8.5 | 8.2 | 090 - | 100 58 - 89.0 | 514
3(.)S(2) 32-200/7.5 | 3(.)P 32-200/7.5 75 | 10 IE3 835 | 886 | 892 | 901 | 092 - | 131 ] 76 - 1166 | 67.3
IE2 177 | 810 | 828 | 828 | 080 | 55 | 32 - 449 | 259 -
3()S(2) 40-125/15 | 3(.)P 40-125/1.5 | 90S | 1.5 | 2
IE3 177 | 832 | 848 | 842 | 085 | 52 | 30 - 436 | 252 -
30S@ 4012522 | 3P 4012522 | soL | 22 | 3 IE2 259 | 825 | 840 | 840 | 085 | 76 | 44 - 648 | 374 -
()S(2) 40-12572. ()P 40-12572. ’ IE3 261 | 850 | 8.2 | 8.5 | 082 | 80 | 46 - 733 | 423 -
IE2 343 | 841 | 858 | 855 | 084 | 102 | 59 - 818 | 472 -
3()S(2) 40-160/3.0 | 3(.)P 40-160/3.0 |100L| 3 | 4
IE3 345 | 823 | 858 | 871 | 089 | 97 | 56 - 854 | 493 -
S0S@) 4016040 | 3P 4016040 | 112m| 4 | 55 IE2 464 | 852 | 864 | 8.1 | 086 | 135 78 - | 1109 [ 4.0 -
5@ i ) ‘ ) IE3 451 | 88 | 878 | 81 | 093 [ 121 | 70 - | 1164 | 672 -
IE2 634 | 858 | 874 | 87.3 | 088 - [ 104 ] 60 - 832 | 480
3(.)S(2) 40-200/5.5 | 3(.)P 40-200/5.5 55 | 7.5
1325 IE3 624 | 880 | 885 | 892 | 090 - | 100 ]| 58 - 89.0 | 514
3(.)S(2) 40-200/7.5 | 3(.)P 40-200/7.5 75 | 10 IE3 835 | 886 | 892 | 90.1 | 092 - | 131 ] 76 - 116.6 | 67.3
3()S(2) 40-200/11 | 3(.)P 40-200/11  [160M| 11 | 15 IE3 1215 | 874 | 898 | 912 | 089 - | 197 | 114 - 179.3 | 103.5
IE2 259 | 825 | 840 | 840 | 085 | 76 | 44 - 648 | 374 -
3()S(2) 50-125/22 | 3()P 50-125/2.2 | 9oL | 2.2 | 3
IE3 261 | 850 | 8.2 | 8.5 | 082 | 80 | 46 - 733 | 423 -
IE2 343 | 841 | 858 | 855 | 084 | 102 | 59 - 818 | 472 -
3()S(2) 50-125/3.0 | 3(.)P 50-125/3.0 |100L| 3 | 4
IE3 345 | 823 | 858 | 871 | 089 | 97 | 56 - 854 | 493 -
IE2 464 | 852 | 864 | 8.1 | 086 | 135 78 - | 1109 [ 640 -
3()S(2) 50-125/4.0 | 3(.)P 50-125/40 [112M| 4 | 55
IE3 451 | 8.8 | 878 | 8.1 | 093 [ 121 | 70 - | 1164 | 672 -
IE2 634 | 858 | 874 | 87.3 | 088 - [ 104 ] 60 - 832 | 480
3(.)S(2) 50-160/5.5 | 3(.)P 50-160/5.5 55 | 7.5
1325 IE3 624 | 880 | 885 | 892 | 090 - | 100 | 58 - 890 | 514
3()S(2) 50-160/7.5 | 3(.)P 50-160/7.5 75 | 10 IE3 835 | 886 | 892 | 901 | 092 - | 131 ] 76 - 1166 | 67.3
3()S(2) 50-200/9.2 | 3(.)P 50-200/9.2 [132M| 9.2 | 125| IE3 1017 | 886 | 89.8 | 90.7 | 089 - | 165 | 95 - 166.7 | 96.2
3()8@) 50200111 | 3()P 5020011 [ | 11 | 15 IE3 1215 | 874 | 898 | 912 | 089 - | 197 | 114 - 179.3 | 103.5
3()S(2) 50-200/15 | 3(.)P 50-200/15 15 | 20 IE3 16.46 | 91.0 | 913 | 919 | 089 - | 267 | 154 - 259.0 | 1495
IE2 464 | 852 | 864 | 8.1 | 086 | 135 | 78 - [ 1109 [ 640 -
3()S(2) 65-125/4 3(.)P 65-125/4 112M| 4 | 55
IE3 451 | 8.8 | 878 | 8.1 | 093 [ 121 | 70 - | 1164 | 672 -
IE2 634 | 858 | 874 | 87.3 | 088 - | 104 ] 60 - 832 | 480
3()S(2) 65-125/5.5 | 3(.)P 65-125/5.5 55 | 7.5
IE3 624 | 880 | 885 | 892 | 090 - | 100 | 58 - 890 | 514
1325
3()S(2) 65-125/7.5 | 3(.)P 65-125/7.5 5 | 10 IE3 835 | 886 | 892 | 901 | 092 - | 131 ] 76 - 1166 | 67.3
3()S(2) 65-160/7.5 | 3(.)P 65-160/7.5 ’ IE3 835 | 886 | 892 | 901 | 092 - | 131 ] 76 - 1166 | 67.3
3()S(2) 65-160/9.2 | 3(.)P 65-160/9.2 [132M| 9.2 | 125| IE3 1017 | 886 | 89.8 | 90.7 | 089 - | 165 | 95 - 166.7 | 96.2
3()S(2) 65-160/11 | 3(.)P 65-160/11 1 | 15 IE3 1215 | 874 | 898 | 912 | 089 - | 197 | 114 - 179.3 | 103.5
3()S(2) 65-160/15 | 3(.)P 65-160/15 | 160M| 15 | 20 IE3 16.46 | 91.0 | 913 | 919 | 089 - | 267 | 154 - 259.0 | 1495
3()S(2) 65-200/15 | 3(.)P 65-200/15 15 | 20 IE3 16.46 | 91.0 | 913 | 919 | 089 - | 267 | 154 - 259.0 | 1495
3()S(2) 65-200/18.5 | 3(.)P 65-200/18.5 | 160L | 18.5 | 25 IE3 2012 | 916 | 928 | 924 | 088 - | 330 | 191 - 3531 | 2039
3()S(2) 65-200/22 | 3(.)P 65-200/22 180 | 22 | 30 IE3 2369 [ 923 | 929 | 929 | 090 - | 380 | 220 - 361.0 | 209.0
3LS 65-250/30 3P 6525030 [ | 30 | 40 IE3 3194 | 928 | 939 | 940 | 089 - | 518 | 300 - 459.0 | 270.0
3LS 65-250/37 3LP 65-250/37 37 | 50 IE3 3897 | 930 | 939 | 938 | 090 - | 625 | 360 - 496.0 | 288.0
3LS 80-160/11 3LP 80-160/11 1 | 15 IE3 1215 | 874 | 898 | 912 | 089 - | 197 | 114 - 179.3 | 103.5
3LS 80-160/15R | 3LP 80-160/15R |160M| 15 | 20 IE3 1646 | 91.0 | 913 | 919 | 089 - | 267 | 154 - 259.0 | 1495
3LS 80-160/15 3LP 80-160/15 15 | 20 IE3 1646 | 91.0 | 913 | 919 | 089 - | 267 | 154 - 259.0 | 1495
3LS 80-160/18.5 | 3LP 80-160/18.5 | 160L | 18.5 | 25 IE3 2012 | 916 | 928 | 924 | 088 - | 330 | 19.1 - 3531 | 203.9
3LS 80-200/22 3LP 80-200/22 180 | 22 | 30 IE3 2369 [ 923 | 929 | 929 | 090 - | 380 | 220 - 361.0 | 209.0
3LS 80-200/30 3LP 80-200/30 30 | 40 IE3 3194 | 928 | 939 | 940 | 089 - | 518 | 300 - 459.0 | 270.0
3LS 80-200/37 3LP 80-200/37 | 200 | 37 | 50 IE3 3897 | 930 | 939 | 938 | 090 - | 625 | 360 - 496.0 | 288.0
3LS 80-250/37 3LP 80-250/37 37 | 50 IE3 3897 | 930 | 939 | 938 | 090 - | 625 | 360 - 496.0 | 288.0
3LS 80-250/45 3LP 80-250/45 | 225 | 45 | 60 IE3 4749 | 932 | 946 | 948 | 092 - | 745 | 430 - 633.0 | 366.0
3LS 80-250/55 3LP 80-250/55 | 250 | 55 | 75 IE3 5830 | 936 | 945 | 944 | 090 - | 935 | 540 - 9350 | 540.0

Rev. R

501

E2ARA

EBARA PUMPS EUROPE S.p.A.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl



POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

TECHNICAL DATA 50Hz

Rev. R

NOISE DATA 3(.)M

Pump type Power
) Loa-dB(A) ¥
Single Phase Three Phase kW] | [HP]
3(.)M 32-125/1.1 M | 3(.)M(Z) 32-125/1.1 1.1 1.5
3(.)M 32-160/1.5 M | 3(.)M(Z) 32-160/1.5 1.5 2.0 <70
3(.)M 32-160/2.2 M | 3(.)M(Z) 32-160/2.2 2.2 3.0
- 3(.)M(Z) 32-200/3.0 3.0 4.0 71
- 3(.)M(2) 32-200/4.0 4.0 5.5
- 3(.)M(2) 32-200/5.5 5.5 7.5 75
- 3(.)M(Z) 32-200/7.5 7.5 10.0
3(.)M 40-125/1,5 M | 3(.)M(Z) 40-125/1.5 1.5 2.0 <70
3(. )M 40-125/2.2 M | 3(.)M(Z) 40-125/2.2 2.2 3.0
- 3(.)M(Z) 40-160/3.0 3.0 4.0 71
- 3(.)M(Z) 40-160/4.0 4.0 5.5
- 3(.)M(Z) 40-200/5.5 5.5 7.5 75
- 3(.)M(2) 40-200/7.5 7.5 10.0
- 3(.)M(Z) 40-200/11 11.0 | 15.0 80
3(. )M 50-125/2.2 M | 3(.)M(Z) 50-125/2.2 2.2 3.0 <70
- 3(.)M(Z) 50-125/3.0 3.0 4.0 71
- 3(.)M(Z) 50-125/4.0 4.0 5.5
- 3(.)M(2Z) 50-160/5.5 5.5 7.5 75
- 3(.)M(2) 50-160/7.5 7.5 10.0
- 3(.)M(Z) 50-200/9.2 9.2 12.5
- 3(.)M(Z) 50-200/11 11.0 | 15.0 80
- 3(.)M(Z) 50-200/15 15.0 | 20.0
- 3(.)M(Z) 65-125/4 4.0 5.5 71
- 3(.)M(Z) 65-125/5.5 5.5 7.5
- 3(.)M(Z) 65-125/7.5 7.5 10.0 75
- 3(.)M(Z) 65-160/7.5 7.5 10.0
- 3(.)M(Z) 65-160/9.2 9.2 125
- 3(.)M(Z) 65-160/11 11.0 | 15.0 80
- 3(.)M(Z) 65-160/15 15.0 | 20.0
- 3(.)M(Z) 65-200/15 15.0 | 20.0
- 3(.)M(Z) 65-200/18.5 18.5 | 25.0 83-82
- 3(.)M(Z) 65-200/22 22.0 | 30.0
- 3LM 80-160/11 11.0 | 15.0
3LM 80-160/15R 15.0 | 20.0 80
- 3LM 80-160/15 15.0 | 20.0
- 3LM 80-160/18.5 18.5 | 25.0 83-82

* Mean value of several measures at 1m distance around the pump.
Tolerance + 2.5 dB.

502

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




POMP@®)IRECT
CENTRIFUGAL PUMPS 3 S E RI ES

TECHNICAL DATA 50Hz

Rev. R

NOISE DATA 3(.)S-3(.)P

Motor Power .

Pump type size | wwi | [HP] Loa- dB(A)
3(.)S(Z) 32-125/1.1 3(.)P 32-125/1.1 80 1.1 1.5
3(.)S(Z) 32-160/1.5 3(.)P 32-160/1.5 90S 1.5 2 <70
3(.)S(Z) 32-160/2.2 3(.)P 32-160/2.2 90L 2.2 3
3(.)S(Z) 32-200/3.0 3(.)P 32-200/3.0 100L 3 4
3(.)S(Z) 32-200/4.0 3(.)P 32-200/4.0 112M 4 5.5 <70
3(.)S(Z) 32-200/5.5 3(.)P 32-200/5.5 1328 5.5 7.5 72
3(.)S(Z) 32-200/7.5 3(.)P 32-200/7.5 1328 7.5 10
3(.)S(Z) 40-125/1.5 3(.)P 40-125/1.5 90S 1.5 2
3(.)S(Z) 40-125/2.2 3(.)P 40-125/2.2 90L 2.2 3 <70
3(.)S(Z) 40-160/3.0 3(.)P 40-160/3.0 100L 3 4
3(.)S(Z) 40-160/4.0 3(.)P 40-160/4.0 112M 4 5.5 <70
3(.)S(Z) 40-200/5.5 3(.)P 40-200/5.5 1328 5.5 7.5 72
3(.)S(Z) 40-200/7.5 3(.)P 40-200/7.5 1328 7.5 10
3(.)S(Z) 40-200/11 3(.)P 40-200/11 160M 11 15 74
3(.)S(Z) 50-125/2.2 3(.)P 50-125/2.2 90L 2.2 3 <70
3(.)S(Z) 50-125/3.0 3(.)P 50-125/3.0 100L 3 4
3(.)S(Z) 50-125/4.0 3(.)P 50-125/4.0 112M 4 5.5 <70
3(.)S(Z) 50-160/5.5 3(.)P 50-160/5.5 1328 5.5 7.5
3(.)S(Z) 50-160/7.5 3(.)P 50-160/7.5 1328 7.5 10 72
3(.)S(Z) 50-200/9.2 3(.)P 50-200/9.2 132M | 9.2 12.5
3(.)S(Z) 50-200/11 3(.)P 50-200/11 160M 11 15 74
3(.)S(Z) 50-200/15 3(.)P 50-200/15 160M 15 20
3(.)S(Z) 65-125/4 3(.)P 65-125/4 112M 4 5.5 <70
3(.)S(Z) 65-125/5.5 3(.)P 65-125/5.5 1328 5.5 7.5
3(.)S(Z) 65-125/7.5 3(.)P 65-125/7.5 1328 75 10 72
3(.)S(2Z) 65-160/7.5 3(.)P 65-160/7.5 1328
3(.)S(Z) 65-160/9.2 3(.)P 65-160/9.2 132M | 9.2 12.5
3(.)S(Z) 65-160/11 3(.)P 65-160/11 160M 11 15
3(.)S(Z) 65-160/15 3(.)P 65-160/15 160M 15 20 74
3(.)S(Z) 65-200/15 3(.)P 65-200/15 160M
3(.)S(Z) 65-200/18.5 | 3(.)P 65-200/18.5 | 160L | 18.5 25
3(.)S(Z) 65-200/22 3(.)P 65-200/22 180 22 30 77
3LS 65-250/30 3LP  65-250/30 200 30 40 78
3LS 65-250/37 3LP 65-250/37 200 37 50
3LS 80-160/11 3LP 80-160/11 160M 1" 15
3LS 80-160/15R | 3LP  80-160/15R | 160M 15 20 74
3LS 80-160/15 3LP 80-160/15 160M 15 20
3LS 80-160/18.5 |3LP 80-160/18.5 | 160L | 18.5 25
3LS 80-200/22 3LP 80-200/22 180 22 30 77
3LS 80-200/30 3LP  80-200/30 200 30 40
3LS 80-200/37 3LP  80-200/37 200 37 50 78
3LS 80-250/37 3LP 80-250/37 200 37 50
3LS 80-250/45 3LP 80-250/45 225 45 60 80
3LS 80-250/55 3LP 80-250/55 250 55 75 81

* Mean value of several measures at 1m distance around the pump.
Tolerance 2.5 dB.
Sound pressure level of motor pumps with AEG

503

g E2ARA EBARA PUMPS EUROPE S.pA.

T +31 (0)294-457712 F +31 (0)294-457713 info@pompdirect.nl




